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--- On commencing at 1:32 p.m.
Opening Remarks 


MS. BRICKENDEN:  Good afternoon, folks, should we begin.

I would like you to check to see if your little green light is on in the mikes.  Before I go on air, I wanted to confirm that we don't get background noise, so that the stenographer can hear.  Green light off for the time being; on when you have a question.

All right.  Now, we will be broadcasting today, if I can find my little....

For those of you who are listening through your computers, hopefully we are coming through loud and clear.

I just want to take a brief minute or so to welcome you and thank you for joining us today.  I appreciate your efforts; am looking forward to the presentations over the next day and a half and also the discussions that we will be having.  It should be an informative meeting.  

Before we get to the presentations and discussions, I just wanted to provide you a brief background and some context for the meeting.  I see a number of the faces are familiar, have been working with us all along in our working group.  I won't centre you out by name, but I do see all 12 faces around the table, which is nice to see.

We started this consultation late last summer, and it culminated in a discussion paper that was issued just three weeks ago.  The last time we got together as a broader group, stakeholder group, was in December.  And at that time, we went over with you the process to date, the context over the next three to five years under which distribution companies will be operating, some of the key issues that we were trying to concentrate on in this consultation for third generation, that being the treatment of capital investment, dealing with distributor diversity and the mechanism as appropriate, and also addressing throughput erosion due to conservation.

We also looked at a number of alternative ways to address these issues.  Working with the working group, we covered off a broad range of mechanisms, individual mechanisms that might help address these issues.  The working group then collected some of those together and put together three alternative methods of adjusting rates -- sorry.  I just hear that the web feed is not working.

Thank you, Larry.

We looked at three alternative plans that might address the issues of capital investment, better reflecting diversity across the province and also dealing with revenue erosion.  They were a multi-year cost of capital approach similar to what has been implemented in the UK, a comprehensive index plan with some added flexibility to deal with these issues, and that is what Staff has profiled in the discussion paper, and we also looked at a hybrid approach, where we would index the O&M expenditures and yet have a more cost-of-service-like treatment or multi-year cost of service treatment for capital.

After some discussions, the group was then focussed on the concept of a core plan, designing a plan that would be appropriate for most distributors, although recognizing that it would not necessarily fit all.

That gives you a brief overview of what we presented on our December gathering, and the focus for this week's meetings is going to hone in more on the substance of the specific IR plan.

Over the next day and a half, and through the presentations and hopefully interactive exchange amongst ourselves, we hope to facilitate a better understanding of the alternatives that we have looked at to date, what the practical considerations might be and what -- have a better understanding of the diverse viewpoints that are being brought to bear today through the various participants.

I will get my little slide changer.

To facilitate this, we did propose some guidelines for folks to prepare their presentations.  This is outlined on slide 3. 

Over the next day and a half, just a few ground rules.  Staff will be moderating the session.  Feel free, however - we do want to have an interactive exchange - if the speaker asks that you await questions until the end of their presentation, we leave that up to the speaker.  Otherwise, feel free to interject with your questions and clarification comments.  I also encourage any of the working group members to pipe up as they see fit.

Each presentation has been scheduled for approximately, along with Q and A, two hours.  We can be flexible, give or take, depending upon the discussion.  The meeting, as you can see, is being transcribed, and the transcripts will be posted on the website for your access.

One final note in terms of next steps or process.  As you know, written comments are due on the 14th of April.  That would be following this meeting, in consideration of all of the ideas that are being shared today.

Now, the set of questions that we issued were not intended to be exhaustive, so please don't feel limited by what you see on slide 3.

We do hope to vet some ideas and alternatives and options with regards to these three major considerations, a long-term vision for sustainable incentive regulation framework, addressing those three core issues that we talked about in December, and Larry, today, will be speaking primarily on the derivation of the X-factor, stretch factor and we will -- Staff will be talking about the other elements that have been identified in the Staff paper.

There are a number of implementation considerations that you may want to raise at this point when we're looking at the various alternatives and options, and I encourage you to do so.  Staff did highlight a few in the discussion paper, but, as has been raised on a number of occasions, the devil is in the detail with these plans, and Staff does not want to leave out a particular point with regard to implementation, and then find out at the end of the day that this is not practical.

The week's discussion will follow -- basically follow the agenda that you have been provided.  There has been a switch from the draft that was issued previously.  A couple of the presenters have swapped places, but aside from that, the time slots are pretty much the same.

So having said that, are there any questions with regards to how we will roll out over the next day and a half?  If not, then let us begin.
Overview of Staff Discussion Paper
Ms. Brickenden


MS. BRICKENDEN:  Angela Pachon and I - Angela is sitting to my right here, your left - will be sharing a brief presentation here on an overview of what is in the Staff paper.  The paper covers a broad range of matters, and the focus for this presentation today will be on the elements of a core plan.  That doesn't mean to say that we are going to slip past any discussion that you may wish to have on any of the other elements in the Staff paper.  We just thought this was a good focus or springboard for discussion.

In general, after working several weeks with the working group, we came to realize that what we're trying to offer here are ideas on an incremental approach to something that is more sustainable, something that is more long-term.  If we're not able to get to the end-state today, whether it is due to the information that's available or the experience that we have with using that information, whether it's at the Board Staff side or at the utility side, I think we all came to realize that there is an advantage to building on a confident base.

Having said that, we tried to come up with a core plan concept that would be sustainable in long-term looking; something that could evolve with the pressures that the market is feeling.  It should be predictable.  We are looking for something that is practical to implement, but more importantly, effective.

Effective at ensuring that the rates that are being set are sufficient to cover the pressures that the utilities are facing, but at the same time, recognizing the experiences of the effect on ratepayers.

The framework, as I said, should be able to evolve over a time, internalizing service quality.  And what we meant by that, to clarify, is, as you know, we're consulting right now on establishing mandatory service quality standards in Ontario.

Doing so may require acknowledging the impact of that on the company.  So by "internalizing", what we mean is, as necessary, recognizing any cost pressures into base rates as a result of establishing a higher threshold on the standard, or a new standard.

I clarify that because there has been some difference of opinion on what we meant by the word "internalize" in the paper.

We also, as you know, recently issued Dr. Lowrey's utility cost comparison report and our audit staff continue to publish cost comparison data on the Board's website.  So the Board will continue in its benchmarking efforts.

So in the long-term, hopefully, these three components, these three main components will proceed somewhat in lock-step and provide an integrated incentive regulation framework.

The concept of this core plan approach that you see listed, the various elements on slide 5, Staff is of the view that it offers the flexibility to recognize a diversity in the province amongst distributors, with regard to capital needs as we are looking at options for an incremental capital module, the general characteristics of the utility, and the geography or customer base within which it operates, and also the utility's involvement in CDM compared to the other alternatives that we were looking at.

Just quickly high-pointing some of the elements on the table, in terms of the X-factor, I will leave that up to Larry Kaufmann to discuss.  He led the working group and staff in discussions on various ways to derive X-factors, so I will leave that up to him.  I will not steal his thunder.

One point, food for thought that I would like you to keep in mind or consider is how the approach to designing one facet of an IR framework may interplay, impact or have an effect on another element.

One of the things we stumbled across midway through our work are sometimes the trade-offs that need to be made when you're designing an IR framework.  We tried to capture this in the discussion paper, and hope to hear more discussion on the nature of trade-offs that you believe, if you believe trade-offs are necessary in the resultant 3rd generation IR framework; whether it is balancing off between how the inflation factor is derived with appropriate assumptions or consistent assumptions in an X-factor, or the calibration of a stretch factor being informed by the existence of, say, an earnings sharing mechanism.

In terms of the inflation factor, Angela has agreed to go over that in a little bit more detail for you in a moment.

Looking down the screen at the earnings sharing and the off-ramps, these are two elements that subsequent to decisions approving mechanisms in gas, and also feedback from members of the working group, we wanted to float the idea of the potential of designing these mechanisms to 3rd generation.

So I hope that we can have a little bit of discussion about that at some point this week.  If you believe it is necessary, what do you think would be an appropriate trigger mechanism and how would you define the mechanism for both earnings sharing and off-ramp?

In terms of the term of the plan, we talked about providing for a longer term, but as noted in the discussion paper, we felt three to five years seemed reasonable.  Again, open to feedback on that, if not at this meeting, in your written comments.  And what implications, if any, you see this flexibility of providing this discretion that you feel need to be addressed.

The most complex element, the biggest change, in my own view, to this core plan from previous price cap indices that we have seen in Ontario, is the proposal for an incremental capital module.  And the module concept bubbled up through the working group.  A couple of the working group members actually presented this concept, and it seems to be a more flexible way of accommodating specific needs of a distributor, while protecting concerns from some of the other members of the working group that splitting or going with a hybrid approach may be problematic, in terms of gaining on costs on the OM&A side, the capital side.  This is all laid out in our paper, but as a means of addressing incremental capital needs, acknowledging the fact that there are a number of pressures that distributors will be feeling over the next three to five years, this seemed the most appropriate.

Staff came up with a proposal that is what Z-factor-like.  It adopts a bit of the model that the Section 92s on the transmission side have, where the distributor would apply specifically for an incremental need, and through that application, be approved, a multi-year funding stream to meet the lumpy, or extraneous need.  I don't know quite how to put it.

The eligibility criteria and materiality thresholds were just adapted from the current rules for Z-factors, and in order to minimize any dilution of incentives under the price cap, this was to be restricted to significant capital that was not discretionary, was deemed not to be discretionary.  And as such, hopefully would provide that safety valve, without having to trigger an off-ramp, so the distributor could then stay on the plan for a longer period.

With regard to Z-factor, the material change there or incremental improvement, hopefully, to the current Z-factor rules, is increasing the materiality threshold.  Staff have had feedback not only from folks on the working group, but have read, in the storm cost decision of last year, that the discussion of the materiality threshold seemed to be quite top of mind for participants, even to that proceeding.

So we would like to talk a little bit about that.  If 3 percent is reasonable, the Staff's first look at the claims that have come in was a much higher number, but in consulting with the working group, we decided that perhaps a good place to start is proposing 3 percent.

Something that isn't on this slide that I don't want to lose sight of, if not this week, but, please, in your written comments, if there are any changes you see as being necessary with regards to information, reporting requirements, Staff notes that the reporting requirements that have been adopted by the two gas IR plans are -- have specific items in it that may not be mirrored in electricity.

So if there is something that you think can be either streamlined or added to in order to satisfy your concerns over the distributors' reporting over a multi-year period, please identify that.

In terms of implementation, there are just three things I will quickly go over, and then I will be done.  High-pointing from the paper, Staff is proposing a little different application of a price cap index than was done for second generation.  Due to recent announcements and tax reform, we are proposing to actually remove tax.  Don't adjust the tax by the price cap index.

We are sticking with the idea that the price cap index would be applied uniformly across all customers and on both fixed and variable portion of your rate.  And in terms of rebasing rules, Staff is interested in hearing your views on perhaps the idea we floated on the historical plant continuity reporting requirement at the time of rebasing, which has been proposed, again, on the gas side.

Those are the high points I wanted to open up with.  I think the bulk of today is going to be spent on productivity factors and inflation factors, but I am hoping we won't lose sight of the broader framework and how each of the elements fit together.

Over the next day and a half, if I see that there is an opportunity to hone in on one of these elements, I may resurrect the menu.

Are there any questions at this point before I pass it on to Angela to briefly go over the industry-specific index that is illustrated in the Staff paper?

Okay.
Ms. Pachon


MS. PACHON:  Okay.  Thank you, Lisa.  Well, after the discussions we had in the working group, Staff decided to do the exercise and illustrate what an IPI can look like.  We follow the methodology -- oh, I may say that Larry is going to talk later about the implications of having a macroeconomic index and the implications especially for the x-factor.

I am going to focus only on the industry-specific input price index that Staff calculated, and this calculation was based mostly on the methodology that was used by the first generation PBR.  The methodology is a very simple way, if we can say "simple", where the index is a sum of weighted sub-indices for capital, labour and materials.

As you can see in slide 7, this is the formula, and, first of all, for the weights, we use the weights, most up-to-date weights.  We don't use exactly the weights that were used in first generation, but calculated weights based on the cost share from Ontario data for the period 2002 and 2006.

However, they didn't have displayed between the cost shares for labour and for materials, so we estimated those weights or cost shares based on the split that we had from first generation.

According to what it was calculated at that time, they had -- O&M was split at -- 70 percent corresponded to labour and 30 percent to materials.  So we applied that to the total cost share of OM&A, and then we got these specific weights for labour and materials that you see in the equation.

DR. CRONIN:  Excuse me.

MS. PACHON:  Yes?

DR. CRONIN:  I was wondering if you could explain where the Wk comes from.

MS. PACHON:  The weight of the cost share for capital?

DR. CRONIN:  Yes, because that is quite a bit different from first generation.

MS. PACHON:  Yes, that was calculated from Ontario data for 2002 to 2006 and was calculated by PEG with the data and analysis they had.

DR. KAUFMANN:  I can say a little more about that.  Am I on?

It's based on our TFP and cost level projections and estimates, and, you are right, what we use as a basis for calculating capital costs is different than what was used in IRM 1.  It is a cost-of-service-based cost of capital methodology and it's actually presented -- the details of it are presented in -- I believe it is appendix 3 of my report.  So if you want to see all of the gory details, that's where you can find it.

But basically it uses a measure of equity costs and debt costs as the opportunity cost of capital, and then there is a depreciation term which is based on book values of depreciation, and it assumed a 38-year straight line depreciation.

And the capital cost in any given year depends on a variety of factors, which again are laid out in the equations.

So there are a lot of differences between what was done between IRM 1 and what we have done.

DR. CRONIN:  Well, for the 48 utilities that we had total capital for in first generation, I think only one would have been in the 60 percent range for capital.

DR. KAUFMANN:  Hmm-hmm.

DR. CRONIN:  So this number is 50 percent higher than the average, where there was an actual almost 40-year record of capital having been collected.

DR. KAUFMANN:  Well, when we were kind of looking at these numbers -- I mean, we have done a lot of this work in the US and throughout the world, and this is about what we see in the US.

The US cost share weight is about 62 to 63 percent.  So what we tend to find is that capital does account for, in general, over 60 percent of costs in most cost studies not only in the US, but in other parts of the world, as well.  So, I mean, I think this might be different that IRM 1, but it is consistent with a lot of other evidence.

DR. CRONIN:  Well, the Norwegians, which have an industry structure very much like Ontario, actually had a cost structure that was identical to what was calculated in the first generation.  Their cost of capital - again, they collected capital data for an extended period - was in the low 40s.

So I just think it is something -- obviously when you have a weight that is so heavily weighted to capital, but yet I don't think that we quite have the data currently, I just think that is something that people have to understand.

DR. KAUFMANN:  Yes, absolutely.  I mean, that's been one of the issues with our work on Ontario data is that we do have a very limited time series, a consistent time series, of any data series, particularly on capital.  So this is not -- you know, it is the best estimate that we could put together given the data that are available.

But the data themselves are less than ideal in Ontario, particularly on a time series basis.  But, again, it is consistent with other estimates that we have developed and that others have developed in other parts of the world, maybe not Norway, but certainly there is a lot of support for this as a cost share.

MS. PACHON:  Any other question?  Okay.

So now specifics of each sub-index:  For the capital we used exactly the same formula that was used for 1st generation.  This formula and data uses the Electric Utility Construction Price Index as the acquisition price of capital, and then it is multiplied by the ten-year Canada Bond yield plus depreciation.

For the depreciation, we use exactly the same depreciation that was calculated in 1st generation.  For the Government of Canada Bond yields, the source was the Bank of Canada website, and we used for each year an average of the 12 months, January to December.  And the Electric Utility Construction Price Index is an annual index from Stats Canada, which we use.

For the last year, this index was not available and is still not available.  So Stats Canada published a partial index which is from January to June, and that is the one we used for 2007.

So this is the capital sub-index.

Then for the labour and materials:  For the labour, this is the sub-index that -- we didn't have for 1st generation, the use data that was specific from the utilities, from the survey of distributors, the filings that they have to do to the Board.  So this data is no longer available and therefore we tried to look at proxies that could reflect the labour price range of the distributors.

In the working group, Judy provided some examples, and we tested some of them.  Also, we saw what Peg used for the gas utilities, and finally, for our example, we used the effective wage increase that is published by the Strategic Policy Analysis and workplace information from Human Resources Canada.  So this index is available from the Internet.  It comes also on an annual basis.  Well, it is, as I said, it's the only sub-index that is different from 1st generation.

Then, for materials, we used the same data and sub-index that was used in 1st generation, which is the Industrial Producer Price Index from Statistics Canada for all finished goods, and because this is a monthly index, we used the December-to-December variation for each year in order to reflect the most recent inflation in materials.

So as you saw in the paper, the final, in slide 10, we show the final -- well, the IPI that we calculated, which is in blue.  It is a very volatile index.  This volatility is mainly due to the volatility of the capital sub-index and also, in the most recent years, also to the volatility of the materials sub-index.

That was a main issue that was discussed in the working group about this volatility, and as an option to address it, we proposed in the paper the smoothing of the capital sub-index, with a three-year moving average of the sub-index.  Not of the change in the sub-index, but of the whole subindex.  What is resulting is smooth, but is a lagged capital.

So in slide 10 you can see the smoothed version, the unadjusted version, and we made a comparison with the macroeconomic index.

So topics for discussion.  As we wrote it in the paper, we would like to know alternative methods.  We know this is a method, and that was the method that was approved in 1st generation, but we want to hear from you, alternative methods, also in the choice of the sub-indices.  This is an implementation of the 1st generation method and probably some of the sub-indices, I mean, do not reflect nowadays the inflation of the distributors.

And also, another main topic is how to address volatility if we go with an IPI.  How can it be limited?  Should this smoothing of the capital sub-index is adequate?  Or what could be the alternatives?

If we don't go with an IPI and if we go with a macroeconomic index, then the question is the input price differential, but this is a topic that Larry will talk with more detail.

So, any questions?  Yes, Julie.


MS. GIRVAN:  Just a question for Larry.  I can't remember, but what is most -- what is used more often in the States in terms of these plans, or even not just the States, but across the board?

DR. KAUFMANN:  Across the board, the macroeconomic is used a lot more, but there are some examples of industry-specific IPIs, certainly.  There have been a number of them in California, in particular.

I should say, though, if we're particularly looking across the world, that in a lot parts of the world, the paradigm that's used to set the terms of the formulas are different than the productivity-based paradigm that we're using here.  It is really kind of a forward-looking cost of service concept.  When that is the case, then you don't really have to deal with the input price differential issues so much.  That really is something that's specific to a productivity-based approach, and the logic that underlies a productivity-based approach.

MR. HARPER:  Excuse me.  Actually, I also have a question for Larry too, and maybe a bit of Larry and a bit of Board Staff.  I was trying to reconcile -- Larry, you made reference to, I think, the appendix where you were talking about how you'd developed your cost of capital, price of capital, your capital measure.

When I was looking at that -- and I must admit I don't understand all of the algebra -- that is part of the reason for my question, to be quite honest with you.  It seemed to me the construction of your price index was to some extent not dependent just on prices in year T.  The construction of the price index had a lot of historical data in it as well, and I was wondering how, or whether, how that jibes with the proposal the Board Staff has where the price index is based just on capital related prices in that particular year, in the particular year that you are dealing with.

There seemed to be mismatch between the way you constructed your index and how it used historical data, and the one the Board staff was doing was just based on data for the particular year in question.

DR. KAUFMANN:  Well, there is a difference in the way we constructed our input price index and what the Board is using.  And the main reason for that difference is the Board wants to use something that is very user-friendly, something that can use off-the-shelf data and something that can be constructed in a very straightforward, transparent, easy way by Board Staff.

And you had trouble working through our algebra.  Our approach is rigorous, but it is not easy to compute.  It wouldn't be easy to update year after year.

MR. HARPER:  I guess what I was struggling with was - to be quite blunt about it – was that as you move to something that is easy, to what extent you move to something that's easy, but isn't really that meaningful, to be quite blunt about it.

DR. KAUFMANN:  Well, yes.  I don't know.  To be honest, we haven't investigated the relationship between Staff's work and what they're proposing and our capital price measure.  So I can't really say, with any specificity, how those two differ or how they relate.  So I don't know whether it is not meaningful -- whether it is meaningful or not, but they do have some smoothing.

There is some smoothing that is involved in their proposed approach, potentially.  It doesn't involve as much historical data as our capital price index does, but there is going to be an element, at least on some of the options, of smoothing the data to go into its construction as opposed to just using the rate of change in a given year.

But I do agree that that should be an issue going forward, to really try to examine what we're using for an input price index and what is being proposed as the input price index for the inflation factor.

DR. CRONIN:  But, again, I would just like to clarify, when you calculate your capital stock index, do you actually have the 40 years of data that's weighted to create that capital stock index?

DR. KAUFMANN:  Yes.  Yes.

DR. CRONIN:  You actually have the filed 40 years of capital data?

DR. KAUFMANN:  For the US, yes.

DR. CRONIN:  No, I am talking about for Ontario.

DR. KAUFMANN:  No, we don't.  For Ontario, we start with the 2002 benchmark year.

DR. CRONIN:  When you normally create a capital stock index, how much capital data do you normally use?

DR. KAUFMANN:  As much as we can, up to 40 years.

DR. CRONIN:  So you're using, in this case, four years and you're using a proxy calculation to estimate or infer what that --

DR. KAUFMANN:  That's correct.

DR. CRONIN:  Do you have any idea what the error is associated with that proxy?

DR. KAUFMANN:  No.  There is no way to quantify any error without knowing what the data are.

DR. CRONIN:  So if you actually had historical data and you took a four- or five-year segment, and you used your proxy and you actually looked at what you get if you did it in the standard economic fashion, you haven't done that?

DR. KAUFMANN:  The standard economic fashion, you mean using a series of capital additions for 40 years?

DR. CRONIN:  Right.

DR. KAUFMANN:  We can't do that.  If we could do that, we would have done that.  So there is no way to compare that --

DR. CRONIN:  I am trying to clarify.  You don't actually have the data for Ontario that you normally would to calculate the capital stock index?

DR. KAUFMANN:  No.

DR. CRONIN:  So your 63 percent is based on I think what you called a non-standard approach?

DR. KAUFMANN:  I didn't say it was not standard.  It is different than what was done in IRM 1.

DR. CRONIN:  Okay.  I thought it was referred to as non-standard.

DR. KAUFMANN:  No.  No.  I mean, we think it is what  -- it replicates the way costs are actually booked in a cost-of-service-type filing, which we think is actually the right approach.  It's the right approach to use in a rate setting, because what we're ultimately doing, the rate adjustment is going to be linked back to the cost of service.

It starts with cost of service.  There will be a cost-of-service rebasing, so we think it makes sense for any adjustment between those two cost of service reviews to be -- to reflect the cost of service.

DR. CRONIN:  I think Mark labelled this approach, if I am correct, something like the mini-inventory approach.  Is that what the capital stock index is based on in --

DR. KAUFMANN:  There is a perpetual inventory.

DR. CRONIN:  He was talking about the 40 years of data as being a mini-inventory approach.

MR. KAUFMANN:  Well, I suppose you could say that.

MR. CRONIN:  So what he was talking about and what he did in his report, is that basically what you have done here?

DR. KAUFMANN:  Yes.  We do not have any data, historical data, that goes before 2002.  I mean, we have done a little bit more than that, because we have actually inferred a pattern of capital additions from 1992 through 2002 based on customer growth during that time, and still we have -- this is kind of a gory technical detail, but we have an auxiliary regression that relates capital change to customer growth in the US.


We have used the parameters from that equation to infer what capital additions might have occurred between 1992 and 2002.  So that is an element in the calculation.

DR. CRONIN:  Now, I know he looked at this mini-inventory approach, which is his term for it.  Can you tell me what they decided in the end in their report?  Did they decide to use that approach or was that rejected?

DR. KAUFMANN:  You mean in the comparative cost work?

DR. CRONIN:  Yes.  In his recent --

DR. KAUFMANN:  That's the comparative cost work.  Yes, the comparative cost work is all OM&A costs, and so there was -- there were some constructions of capital quantity indexes that we did as part of that work, but ultimately that did not figure into what was benchmarked.  We only benchmarked OM&A costs.

DR. CRONIN:  Right.  But they tested and looked at whether or not that capital made any sense?

DR. KAUFMANN:  It was an independent variable, yes, and some of the regressions, and it was mixed.  Sometimes it was significant.  Sometimes it wasn't.  It wasn't used.  What was used instead was a system age variable, a proxy for system age.

DR. CRONIN:  Right.  So I am just trying to clarify that, you know, these are proxy measures that are being used, not actually historically constructed capital stock indexes.

DR. KAUFMANN:  Well, I guess I wouldn't go that far.  I mean, they are capital measures, but they're not capital -- they are not the ideal capital measures.  I mean, there is nothing -- people go around using these as capital measures all the time, but that makes them less than ideal.

What you would really like to do is you would like to know the whole pattern of additions that got you from -- you know, from way back in the beginning to where you are right now.  That's the best way to construct capital cost.  In most parts of the world, that is not -- those data aren't available.  So what you tend to find in most studies that look at capital valuations, they use some earlier valuation.  It could be -- I mean, they have different ways of doing this in different parts of the world.  But, you know, a lot of times it is engineers go out and they count assets and they make an estimate of how much it has depreciated, and then they look at the replacement costs.  So there would be kind of an optimized depreciated replacement cost measure.

So something like that is actually very common in other parts of the world.  It is not based on a perpetual inventory equation, so I don't think it is really fair to say that what we've done on the capital side in Ontario is non-standard or it's a proxy.  It is actually very consistent with what is done in other places, but it is really less than ideal.

What we are able to do in the US, because of the long series of capital additions, is build up something that is closer to ideal.

DR. CRONIN:  Okay, thank you.

MS. BRICKENDEN:  Susan.

MS. FRANK:  Larry, could you tell us, you suggested that you seen more of the macroeconomic index being used in other jurisdictions.  Would you say that the unadjusted industry-specific IPIP that you saw in slide 10, actually, is that something -- that much volatility is something you might have seen in the past?  The blue line, is that -- it is typical that you would see that kind of volatility.

Yet often, in order to have more stable prices that use the macroeconomic, rather than allowing all of that volatility in consumer prices, I would assume.  That likely is a factor, is it?

DR. KAUFMANN:  In a lot of cases, I am not sure that they have even really investigated it.  They don't know what volatility does or doesn't exist.  For example, Massachusetts, which is a place I work in frequently.  They use macroeconomic measures and they have never investigated an alternative.

So it is not really the case they have even looked carefully at it.

MS. FRANK:  They haven't chosen between.  They just picked one --

DR. KAUFMANN:  No.  It is simpler.  It is easier to understand.

MS. FRANK:  But we can assume that the blue line is likely illustrative of the kind of volatility that we think -- if you believe the formula, you believe the blue line?

DR. KAUFMANN:  Well, I think it depends on -- it's not just the formula.  It is the inputs into the formula.  What indexes would you --

MS. FRANK:  I am going to say I will accept the blue line as being appropriate and accurate.  I won't do all of the questioning that we're having of:  What did you use, how did you get there?  I am just going to -- if I accept it, the blue line is right, and then I look at the volatility that I see compared to the macroeconomic one, I want to say:  What does that mean?

If you go with macroeconomic, but the utilities are actually seeing the blue line, what are you going to see?  Are you going to see a lot of volatility in the bottom line net income?  That's what's going to happen?

DR. KAUFMANN:  Well, maybe.  You know, I think it depends on how companies manage.  I think that the blue line overstates volatility, because what it really does is it -- this is applying price changes to all components of cost.  If you think about your cost structure, a big part of it is sunk.

I mean, a big part of what you're paying right now for capital reflects capital investment decisions over the last 40 years.  A lot of that was financed with debt and the debt costs are embedded, so I think there is a big portion of your costs which do not really fluctuate with this IPI index.

So I think this does overstate the --

MS. FRANK:  So you're saying the formula for a blue line should be modified?  You're recommending it is the wrong formulae?

DR. KAUFMANN:  I definitely support some way to smooth and modify the volatility in the changes of this, in the index.

MS. FRANK:  Three-year average doesn't seem like it is very sophisticated; besides, it lags.  If you're saying the blue line is inappropriate, it exaggerates, therefore we should modify it, don't you think we should come up with something that more closely modifies, rather than just, Let's take something that is wrong and smooth out by three years?

That doesn't sound like it is a good idea.

DR. KAUFMANN:  Well, I am not accepting that it is wrong.  I am just -- again, I haven't even -- I haven't really examined the details of this calculation.  This is something Staff did.

I am not supporting this.  I haven't examined it.  That's literally the case.  So I don't know whether it is right or wrong, or how it can be modified to make a better index, perhaps less volatile.

I think that is the first place we want to start.  We want to look carefully at the choices that were used to set this index, see if we can improve on those, and then we might get a very different blue line.  And then once we have that, we can examine what sorts of modifications we can make to lead to more stability.

MS. FRANK:  If stability is what the utility is seeing.  And I am not entirely convinced that is the case, because if you put a stable macroeconomic index against a volatile experience in terms of what their costs are doing, then I think you are promoting volatility in net income, which to me means if there is more volatile net income, then it is higher-risk business.  Do we really want to do that to a utility?  By trying to smooth, do we want to make net income more volatile, and therefore having to have a higher cost of capital?

DR. KAUFMANN:  Well, you know actually that is an empirical question.  There are companies out there that have been under these plans that have been smoothed.  San Diego Gas and Electric and Southern California Gas are the two examples.  It is a testable proposition about whether or not their income was more volatile when they were under the plans.  Maybe that is something we should look into it.

MS. FRANK:  Possibly.

MS. BRICKENDEN:  I think it's important just to note though, Susan, that you are right that most people expressed greater confidence or support for an industry-specific input price index over the macroeconomic, because of those reasons.

We hope to find the appropriate mix of sub-indices to best match.  Maybe what we have got here, as Angela pointed out, is no longer appropriate.  But we thought it is a good place to start.  Start with something that we had, take it off the shelf, dust it off and refloat it.

Sorry.  Julia?

MS. FRAYER:  One thing that I wanted to kind of comment on - and Larry actually was the one that mentioned it earlier - just to make sure it came out.

The idea behind IPI is that it would be applied to total cost, all rates.  In effect, some of the volatility, or I think a majority of the volatility we're seeing in the blue line is because of the current definition of the capital sub-index.

I think what it assumes or presumes -- I just wanted to restate it because I think, Larry, you mentioned this already is that there is effectively continuous presumption of refinancing of the entire capital asset base, rather than trying to differentiate in reality what happens in terms of financing new capital additions versus sunk investments.

This capital input price index as currently formulated is presuming a continuous refinancing of the entire asset base, which may be, in fact, a little bit of a departure from the actual experience of the utilities.

Maybe that is where we start thinking about how to improve the design of the IPI in one way or another.

DR. KAUFMANN:  I can say that the cost of service capital measure that we have is, in fact, that is one of the issues that it is designed to focus on.  It is designed to better reflect changes in capital cost as they occur year on year.

MR. STEPHENSON:  Larry, can I ask you this question?  If we took your measure of your calculation of the IPI and put it on this graph for the same time periods, what would it actually look like?

DR. KAUFMANN:  Well, we haven't done it, but I do have a slide which shows -- I don't think it shows -- actually it does.  It does show both the overall input price index and the components for our US sample.  I don't know whether you have a copy of my presentation with you, but --

MS. BRICKENDEN:  What slide is it?

DR. KAUFMANN:  It is -- I am trying to find it -- it is slide 39, table 10.

So we don't have -- you will see here this is just, it just has the overall growth rate in the index, and then the sub-indexes for labour, materials and capital.

So we've got the averages there over the '88 to 2006 period.  We don't have the year-on-year volatility.  Obviously, that can be computed.  We can get the year on year changes.  We can look at the three-year changes on that, and we could impose that as a line in that graph.

MS. BRICKENDEN:  It would be the summary index?

DR. KAUFMANN:  Yes, that would be the summary index.

DR. YATCHEW:  We couldn't have the Canadian counterparts?

DR. KAUFMANN:  We do.  We do have those.

DR. YATCHEW:  For a limited number of years.

DR. KAUFMANN:  Yes, it is a very limited number of years, and I don't think I added that table to the slide deck, although I think it is in the report.

MS. GIRVAN:  Larry, just a quick question.  What part aren't you supporting?  It wasn't clear to me what you were saying.

DR. KAUFMANN:  I am not supporting or not supporting anything.  All I am saying is that I haven't looked at what the Staff has done.  I mean we have really kind of --

MS. GIRVAN:  The three-year adjustment?  Is that what you are talking about?

DR. KAUFMANN:  Well, I do support, in principle, some type of smoothing.  I think that makes sense.  I am not sure of the best way to do that.

MS. GIRVAN:  Okay.

MS. BRICKENDEN:  Any other questions?

MR. AIKEN:  Just one for Angela.  Could you go back to the graph on page 10, or on slide 10?

I am a little confused where the numbers on the orange line are coming from, because they show a range from roughly plus 3 to minus 3 percent.  Yet when I look at table 3, the highest numbers I see are 1.8 percent and the lowest number is minus 1.2 percent.  They seem to be different than your graph that was in the report.

MS. PACHON:  Yes.  We actually revised table 3 in the report, because we wanted to update some figures that were not available at the time when this report was out.  Like, the most recent material sub-index.  Also, because of your comments, we reviewed the -- we found an inconsistency in the formula.  So that was corrected.

Also, we found that we were inconsistent, especially for the last year, for the unadjusted index with what was written in the paper, because for the paper we were talking about using this partial sub-index for the utility construction cost, while in the calculation that was in table 3, we had an average.

So even on the adjusted version it was an average.  We did revise this table 3, update and revise, and this graph on slide 10 shows the latest version that, obviously, we are going to re-circulate the table 3.

MR. AIKEN:  I was just going to say, are you going to provide a revised table 3?

MS. PACHON:  Yes, we are.

MS. KWIK:  Lisa, are we still on the IPI or are we on miscellaneous?  I am going to move on to --

MS. BRICKENDEN:  Move on?  For sure.


MS. KWIK:  Now in the Board Staff report you have a chapter 2, entitled: "A long-term view of incentive regulation," and then on page 8 in that chapter, you talk about:
"The working group had expressed the belief that in the long term, there should be integrated comprehensive IR framework in Ontario that includes service quality regulations and makes use of benchmarking to imitate the operational outcomes of a competitive market."

But what is missing from the report is really an illustration of how this framework would come together, and I think it is an important vision to have, you know, as I sort of indicated in the first workshop that you held.

I had passed out a little illustration of such a framework at one of the working group meetings, and what it has got is, actually, timelines and milestones that need to be met to reach that eventual vision.  It makes a difference as to what that vision is at the end, in terms of what you are developing right now, in terms of thinking what term plan should be, in terms of whether utilities should have choice in the length of a plan.

If your long-term vision is as what I had in this framework, which is like eventual benchmarking, then I would think you would want some kind of coming together in terms of start date for benchmarking, rather than having a third of the utilities come on to benchmarking one year, a third the next year and a third the third year, you know, when the benchmarking bases would all be different.

So if you don't mind, I would like to distribute this so people have an idea of what I am talking about when I am talking about a framework that gets you to a vision.

MS. BRICKENDEN:  Did you want us to make copies?

MS. KWIK:  I've got copies here in anticipation of being allowed to.  So I just wanted to comment on that we still need that vision.

MS. BRICKENDEN:  Thank you.  That is helpful.  Yes, at one of the working group meetings, Judy presented a bit of a timeline that laid out how we could get from where we are today to where we might get to, recognizing that not all of the pieces may be ripe for implementation in the next year or two, but with a phased approach or an incremental approach, consistent with what we were talking about at the time on the working group, could get us to a place at the end of the day where all of these pieces fit together and they complemented each other, instead of what might look like -- I think earlier on in one of our consultations there was concern - it was quite early on, I believe in September - concern expressed by stakeholders that the service quality, the incentive regulation mechanism and the benchmarking initiatives at the Board were perhaps going to progress off in all different directions.

So this was a means of helping the working group discuss how they're really being developed together.  Thank you, Judy.

MS. KWIK:  Thank you.

MS. BRICKENDEN:  Did you want to walk us through it a little bit, or...

MS. KWIK:  I wasn't going to walk you through it.  It is an illustration, but what it illustrates is that there are milestones for starting to embed service quality, reliability and for developing proper benchmarking, and it leads up to a framework that is then based on benchmarking for utilities that have peers, but it also allows for utilities who don't have peers to continue being regulated on a price cap mechanism.

The IR framework would embed service quality and reliability within it.

MS. CONBOY:  Could I add one line to what you I will have developed here, Judy?  When you have got the first generation PBR approved in 2000, there might be one line prior to that with respect to the -- I guess I should read through the whole thing first before I say anything, but with the unbundling of the rates.

From my understanding, typically you have -- you come in.  You've got your cost of service.  All of your costs are brought up to -- you know, to -- into your rate base and approved as such, and then, at that point, you superimpose your PBR regime or your IR regime on there, and that's where you get your efficiencies coming out.

What we had in unbundling can't be assumed to be a cost-of-service start line.  So we didn't all come in, have a cost-of-service application, and then impose PBR on it.  Many -- from what I understand from the LDCs that I have been representing, many of them were under a rate freeze prior to the year 2000, as well, and some as late as, say, 1993, for example.

So there was, in effect, a pseudo PBR with revenues staying static and yet having a lot more costs increase coming into this whole regime.

So I might put another line right at the outset saying, Unbundling with existing costs as opposed to --

MS. KWIK:  Yes, yes.

MS. CONBOY:  I think that is an important message that we need to understand.

MS. KWIK:  Quite honestly, if I were to redo this now, I would probably do it a bit differently.  In fact, I don't have rate design in there and that is a consideration, as well.

MR. SOMERVILLE:  Sorry, I can't hear.

MS. KWIK:  Sorry, what I said is if I were to redo this now, I would probably do it differently.  For instance, what I have right now doesn't have the rate design review in here, and that should be part of that framework, as well, the IR framework.

MS. BRICKENDEN:  Thank you, Judy.  Thanks, Paula.

Are there any other questions before Larry starts?

MS. CONBOY:  Other than to say that perhaps it would be a good idea to redo this, Judy, and I am sure there would be a few of us that would be happy to help you with it, because, again, if I am not reading quickly enough, we also have the issue of the unbundling costs or the transition costs that were held in deferral accounts, and then, subsequently -- I mean, they're still being disposed of.

As many utilities know quite well, not all of -- they weren't getting back 100 percent of those costs incurred as a result of market opening.

So maybe if this can be made available to us in a Word document, we could held build that up, because this is a really good way to sort of see it all on one sheet of paper.

MS. KWIK:  Yes.  I had hoped it would start discussions in a working group meeting, but, you know, I think we had an awful lot of things to cover and never quite got to it.  But, yes, it would be really good if you could get to it and make it a bit more comprehensive.

MS. CONBOY:  I will get around to it.

MS. BRICKENDEN:  Thank you.  Any more questions?  I think I would pass it over to Larry, then.
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DR. KAUFMANN:  Well, as most of you know, PEG has made some preliminary recommendations for X-factors for the 3rd generation incentive regulation mechanism.  We have summarized those recommendations in a report which has been presented to the Staff, and it is on the OEB website.  Most of you probably had a chance to look at that.

Today's presentation is just going to review those recommendations, just those recommendations.  There is more in the report besides the empirical recommendations, but there is enough just dealing with the basis for the numerical recommendations.

The organization is going to begin with an overview of X-factors very briefly, the logic that underlies X-factor specification, and then some of the options that are available for estimating X-factors.

This was something that was an important focus of the working group discussions, exactly how we should go about estimating X-factors for third generation IRM.

Then I am going to get into some of the TFP estimates that were available and that we examined -- is this not...

MS. CONBOY:  No, it's good.

DR. KAUFMANN:  -- that we examined as the basis for our recommendations.  Then I will turn to some the evidence that we looked at for the consumer dividends and what we're recommending there, and then, finally, the recommendations themselves.

I think Lisa touched on this.  The X-factor is obviously just an element of the overall incentive regulation framework, and the objectives that are deriving in the framework itself that is to be established in IRM 3 are these four objectives:  Sustainability, so the idea behind sustainability is that the framework is flexible and it can accommodate changing conditions; that it's predictable; that it's effective, it leads to the right sort of incentives and the right kind of outcomes, efficient outcomes for both customers and shareholders; and, finally, that it be practical, something that we can implement and that is not too costly to design and administer.

This first objective was really key for our work, the sustainability.  I was guided by all of these considerations, but I was really keen to make sure that we put in place something that led to reasonable X-factors, for IRM 3, and that also provided a good foundation for future incentive regulation applications.

So when it comes time for IRM 4, I think we all don't want to go back to the drawing board and look at -- examine everything again.  Ideally, we want to put in place something that we can build on and revise and extend as more information becomes available.

So that was the approach that we were trying to craft in this proceeding, and it is obviously not set in stone.  It should evolve over time but, again, I hope the framework and the principles are solid and reasonable enough so that it can provide a long-term basis for a sustainable regulatory approach.

We have talked about the industry price index.  I am not going to really go into the details here, except to say that when there is an industry input price index, the X-factor just depends on two components, and that is the trend in total factor productivity for the industry, and a consumer dividend or a productivity stretch factor.  You will see both of those terms.  They pretty much mean the same thing.

In our work, we have developed recommendations, specific recommendations for the productivity factor, a specific value for the productivity factor.  At the time the report was written, we didn't have all of the information that we needed to come up with final specific recommendations for the consumer dividends, because I am relying on the comparative cost work that my partner is working on, Mark Lowry, and that work was not finalized at the time we had to prepare the report.

So what actually appears in the report is an illustrative example of how the approach that I have outlined could be implemented, given the report that existed at the time we wrote it, given the comparative cost report and the information in that report.

Now, since then, Mark has just last Thursday prepared an updated report.  So there is now a final version of this report that is available, and given that, we are now in a position to look at the benchmarking evidence and results in that report and use that as the basis for specific consumer dividends for specific companies.

But again, what you see in the report are not recommendations.  It is just an illustration.

Now, this is the only slide of any algebra that I am going to have in this presentation, and the only reason it is here is I think it can illustrate a few points that are important to keep in mind as we kind of consider options, and consider some of the options that are being discussed.

What this is is this goes through the logic, the mathematical and algebraic logic that is used to derive X-factors, and to think about what an appropriate X-factor is when you are using an industry-specific inflation measure.

So let's just start at the top.  The logic here starts from the idea that there is a cost-of-service review in a cost-of-service rate case.  In that cost-of-service rate case, revenues, the allowed revenues for the company are going to be set equal to the company's deemed cost of service, what is estimated to be the cost of service.  Here is the starting point.

And what do we know about the cost of service that is determined in a cost-of-service review?  Well, it has OM&A costs.  It has a monetary value for the capital stock.  It has a rate-of-return on that, an allowed rate-of-return on that capital stock, and some depreciation, which is also. (sic)


The revenue requirement is designed to recover OM&A costs, and what is sometimes called the return on and the return of capital.  So it is the rate-of-return on capital and the depreciation on capital.  And also taxes too, and a few odds and ends, but those are the main components: capital costs and OM&A costs.

So it is important to realize that right here at the outset, we're linking this to a revenue requirement that depends on OM&A costs, monetary values of capital stock, and depreciation.

So that's where we start.  Then we want to derive an adjustment mechanism that adjusts prices between that cost-of-service review and the next cost of service review.  Again, at the next cost-of-service review, all of those elements are going to go back in to setting new rates.

It is fairly straightforward, actually.  All you do is you just look at the change in revenues and the change in costs.  And when you do that, you can break down a change of revenues into two pieces.

There is going to be a change in output quantity, so these are the quantities of outputs that companies produce and sell to their customers, and a change in output price, or the change in prices that the companies charge for their outputs.

On the cost side, the change in cost is equal to -- that can be decomposed into a change in input quantity, and a change in the prices that companies are paying for inputs.  So the input quantities are capital, labour and non-labour O&M inputs.  Then the prices are very similar to, or at least they're reflected in the sort of equation that Angela showed you before, where you had a price, some input price for capital, some input price for labour, some input price for materials.

Up here, we start with revenues equal to cost at the outset, and if we just equate these two -- so what we say, essentially, is that we want the change in revenues for the industry -- we want to devise a rate adjustment mechanism so that when we set the terms of that mechanism, the change in revenues for the industry are going to approximate the change in costs for the industry.

So all we have to do is equate these two and rearrange, and what we can come up with is this equation down here on the bottom, which is a change in prices is equal to the change in output prices -- so these are the prices that are charged for the utility's outputs -- is equal to a change in input prices.

So this is the IPI that Angela was talking about, it's an industry IPI, minus the change in this difference right here, which is output quantity, the change in output quantity minus the change in input quantity, which is the change in total factor productivity.

So here is where you see the logic that underlies the two pieces that Staff and I are discussing respectively, in terms of the rate mechanism.  What we have is a rate adjustment mechanism here.  So we are adjusting prices and there are two components of this.  There's an input price index, which is the inflation factor.  Then there is a total factor productivity index, a change in the total factor productivity index, and that is the basis for the X-factor.

So here is the rationale that underlies the two.  The reason I went through all of this is, going back up to this line where you have revenues and costs – Remember, costs here depends on monetary values of capital stock.  It depends on rate base.

And we know that that's what we're going to use to set prices.  And if we want to have a rate adjustment mechanism that is consistent with that, then we want to have a rate adjustment formula that reflects changes in the monetary values of capital stock.

And that's relevant, because we did talk briefly about using physical units of capital as the basis for TFP studies, and using those to estimate this TFP factor.  That raises a lot of potentially complicated issues about whether that makes sense or not.

But to me, we don't even necessarily need to get into those technical issues, because for me we have this threshold question, whether it makes sense to use anything in a rate adjustment mechanism that's not consistent with how rates are set at the outset.

So I guess that is kind of a long-winded way of saying that when we go about setting the terms of this formula, we need to rely on monetary values of capital to be consistent with the underlying logic.

Now, in North America most price cap plans are calibrated to track the TFP trend of the industry itself and not any particular company's TFP track.  That is mostly because of the impact on incentives.  You want to create an external standard, something that companies are essentially competing against.  In competitive markets, what companies are really competing against is the changes in productivity in the industry.

So by linking the X-factor to industry trends instead of any particular company's TFP trend, then you really have an external standard that you are using to set the terms of the formula, which again is more consistent with competitive markets, and more consistent -- it creates the sort of incentives that incentive regulation is designed to create.

Susan.

MS. FRANK:  Larry, I was fine with your algebra.  Just coming over to the link between an X-factor and total productivity factor, just the language "total productivity" implies, that, indeed, things are getter more efficient, because of the word "productivity".  You know, it could be the other way, as well.  There is no reason why an X-factor would be lower and lower.  It could actually mean that you have to put more and more inputs in, and get fewer outputs; right?  The sign is -- 


DR. KAUFMANN:  If possible, yes.


MS. FRANK:  -- it could be either way.

DR. KAUFMANN:  That's true.

MS. FRANK:  But the language, once we move to total productivity, has a bias towards one sign.

DR. KAUFMANN:  I wouldn't say it is really a bias.  In most sectors of the economy, there is -- productivity growth is positive.  You're right, it doesn't have to be that way, but --

MS. FRANK:  When you said in most sectors, at periods in their life cycle, I would agree, but I am not certain that is true at all stages of the life cycle.  I think there is times when you've got a very high level of utilization and you really can't get any better, as you have to build and expand your system, particularly in periods when you've got new parties coming in who need to have all of the infrastructure built, but they're not heavy users.  They're small users.  They're very conservation-oriented.  

You actually have, and this is quite true in electricity - you find it in the UK - where the productivity is not positive anymore.  It is negative.  The factors are -- so I have trouble with the language, just because I think it puts a bias in it.

DR. KAUFMANN:  Well, I do think it's -- you are right that it is not -- it is possible for TFP growth to be negative for certain industries at certain points of time.  I agree with that.

But I also think it is important to distinguish between efficiency and total factor productivity growth.  Efficiency, kind of pure changes in the efficiency of management and what you can do to drive performance improvements in a company, that is efficiency.  

TFP is bigger than that.  TFP includes economies of scale, for example.  Economies -- excuse me?  

MS. FRANK:  Or diseconomies.

DR. KAUFMANN:  Well, yes.

MS. FRANK:  Total factor productivity I agree is a combination, but there is many things that go the other way, and just the language leaves a bias to what people expect to see.  That is my concern.  I have no trouble with X-factor.  X-factor has no bias to it.  It is --

DR. KAUFMANN:  The term is what it is.  I mean, that's what -- it's been a term that's been used and developed in the economics literature for 50, 60 years now, so we're not trying to bias it one way or the other.  That is the term.

But, again, just to distinguish between efficiency and TFP, TFP includes more than just pure efficiency.  We are capturing that.  You are right; some of the things that it captures can lead to inputs growing faster than outputs, potentially.  That's not impossible.

Okay.  There are -- I think I will take about five more minutes, and then take a break.  Maybe I will just get through this X-factor options section, and then I think that should lead up to the empirical numbers themselves.

There are two main options that can be used to estimate TFP trends and calibrate X-factors in indexing plans.  The first is an index-based approach.  This is the most common approach, by far.  

In almost all TFP studies that have been done, there has been some use of indexing or the use of economic indexes to aggregate different outputs and different inputs into comprehensive measures of output and input, and then look at the differences between those growth rates as an estimate of TFP growth.  That is the most common way.

There is an alternative, which is to use econometric methods, and I think a lot of you were here on the last conference on December 14th, and I talked a lot about potentially using econometric methods as an option, as a way of estimating X-factors here in Ontario, and I will explain why I was -- why I thought that was an option in just a second.  But that is something that is available.

With indexing methods, essentially you would compute comprehensive measures of output quantities and input quantities and look at the differences between the two.  That would be how you measure TFP, TFP growth.

Output quantity is typically measured using a weighted average of customer numbers, kilowatt-hour deliveries and kilowatt demand, if that data is available.  A lot of times it isn't or it is not accurate, for a variety of reasons.

Again, these -- these output choices make a lot of sense if you go back to this indexing logic here, where here on the revenue side you are trying to measure -- the changes in revenues are going to correspond to the changes in the prices that companies charge, that utilities charge for their products, and the changes in what customers are buying of those products.  And what are customers buying?  They're buying access and kilowatt-hours, and, for some companies, they're buying peak demand.  That's what you're actually charging for.  

So there really is a link between this logic and the choices for what are selected for the output quantities.  The output quantity measures that are consistent with this logic are the billing determinants.  It's what is in tariffs.  It is what you are charging customers for.

That's what is reflected here, customer numbers, kilowatt-hour delivery numbers and kilowatt-hours, kilowatts of demand.

Then to compute a comprehensive quantity of output quantity, you have to weight up these particular outputs into an overall output measure.  There are two ways, two sources of weights or shares, that are applied to each particular output when developing an overall index.  

The conceptually correct approach is to look at the revenues that are associated with each of these output quantities; so, in other words, the total amounts of revenues that are collected from the customer charge divided by the total revenues.  That would be the revenue share that's associated with customer numbers.  

Same thing for kilowatt-hours, the revenues collected from the volumetric charge divided by total revenues.  

Now, those data typically aren't available.  Those aren't easy things to collect, so because of that, in most applications, revenue shares aren't used to weight up the different outputs.

Instead, what is often used are cost elasticity shares.  So these are measures of how costs change when outputs change.  It's a measure of the sensitivity of costs to changes in output.  These are things that you can estimate using data sets and econometric methods.

So in most North American studies, cost elasticity shares have been used as a second-best-feasible alternative for the output weights, but our approach is that if we have revenue shares, we always use those.  But we typically don't.

Input quantity - we have talked about this - is a weighted average of labour inputs, non-labour OM&A inputs and capital inputs, and, in some these, for example, other OM&A inputs, the way we actually measure the quantity of these inputs is to look at the expenditure and the changes in this expenditure, and then deflate it or subtract from it the growth in the prices that are paid for that particular input.  

So the difference between the growth in cost and the growth in the prices that are being paid for the inputs themselves is equal to the change in the quantity of those inputs.  That's actually how we construct input quantities for some of these input quantities.

Okay.  Now, in terms of the pros and cons of this approach, I know it may not seem simple in just kind of a five- to ten-minute presentation, but this is a relatively simple approach.  It is using data that are understandable and that everybody in the industry has some experience with, the output data, cost data, et cetera.

So it is using relatively simple techniques applied to data that are generally well-understood.  It's a measure that can be constructed for any individual firm.  So you don't need wide cross-sections of firms to get a good estimate of a TFP trend, unlike, say, econometric approaches, where you generally do need a lot -- a wide cross-section to get good econometric estimates.  So that can be an advantage in some situations.  

The techniques themselves are relatively well-established and relatively well-understood and transparent.

The disadvantages, there are a number of potential disadvantages.  One is that if you compute an overall industry TFP trend, which is the way it is typically done in these plans, if there is a lot of diversity within the industry and cost pressures are different for different segments of the industry, then an overall TFP trend is not going to reflect that diversity and those differences in cost pressures.

Another possible concern is TFP trends using indexing methods are calculated using historical data.  So all you are measuring is what has happened in the past.  You could use that as a basis for TFP trends in the future, but you are really implicitly saying that what's going to happen in the next few years is proxied pretty well by what we have for the last few years, or by the long-run trend.  That may not be the case if the future, for whatever reason, for TFP growth is very different than what has been experienced in the past.

Finally, TFP growth:  TFP is volatile, it fluctuates quite a bit from year to year.  To get a good measure of the underlying trend, you really need a fairly long time series of data.  In most cases, in fact in almost all approved plans, you need at least nine or ten years of data to get a good measure of the underlying trend.  Four or five years of data can be very deceptive, and that's why there really are no approved plans that rely on sample periods that are that short.

Finally, the econometric option would basically look at, it would look at cost data, the same sort of data that are used for a TFP analysis, but you would construct measures of total costs and then you would relate the cost of different distributors to various business conditions that are driving their costs; things like the amount of outputs they provide, the amount of underground lines in their territory, elements of the customer base, like what percentage of their customer base is residential versus industrial; forestation, things like that.  Customer density.  There are a lot of variables that potentially impact the cost of service.

With the econometric approach, what you would do is you would relate -- you would use econometric techniques to relate the cost of different distributors to different business conditions, and then you would quantify how much of each of those business conditions is impacting costs.

Then, once you have those econometric estimates, you can group those into various factors that are driving costs, like technological change, scale economies, changes in different business conditions, like customer density, undergrounding and system age, et cetera.

Once the impact of these different TFP drivers is quantified, then you can actually take those estimates and you can tailor projections of TFP growth for each individual company, based on how their particular business conditions are expected to change.

So for example, I guess this is the second slide that has some algebra in it -- and I think I also presented this in December -- where you have TFP growth here as a function of these -- A is here, with the hats on top, these are just estimated coefficients.  So here we have different estimates of various drivers, like the constant, the impact of changes in customer numbers.  This is how much a given  -- depends on how the function is specified, but this could be how much a 1 percent change in customer numbers affects TFP growth, volume change, kilowatt-hours, changes in undergrounding, et cetera.  The coefficient on time is usually taken to be the measure of technological change.

So the first step is to estimate these various coefficients, and then for the projection itself, once you have these coefficients, then you would substitute in the changes in each of these factors that are expected to prevail for a given company.  So you would have changes in customer numbers for, say, company J, over the next five years; volumes; undergrounding; et cetera.

So this is combining econometric estimates with expected values on how conditions are expected to change for a given company over, say, the next five years.  Then when you bring these two things together, you can get a projection going forward of how TFP is expected to grow.

Now, there are some pros and cons associated with this approach.  This is generally better than the index-based method for capturing diversity in distributor business conditions.  So if we wanted to have different TFP trends for different segments of the industry, that's a consideration that would tend to support the econometric, as opposed to the index-based approach.

It can also capture differences between the future and the past.  So you don't just have to rely on measured trends, historical trends.  If you have some expectation on how these variables are expected to change, the things that are driving TFP growth, then you can input those projections directly into the equation and come out with a projection that reflects your expectations for the future.

Econometrics doesn't necessarily require as extensive a time series, data series.  If you have a lot of cross-sectional data, then you can get good estimates of those cost function parameters.

We have already talked about this to some extent, but this was a key concern for us, because we knew that we only had reliable data in Ontario since 2002.  So we only had four years of changes of data.

And that, more than anything, was causing me to lean in the direction of using this as the method that we would use to develop X-factors.

But there are some real potential downsides with this approach.  The biggest one is it is just much more complicated.

Yes?

MS. FRAYER:  Larry, just on this point while you are talking about the extent of your data, one question I had was:  Won't the four to five years that's hampering the indexation also hamper the econometrics, since you're estimating based on the same four to five years?

DR. KAUFMANN:  No.  Not necessarily, because you can compensate for that with the cross-section.

So, I mean, if you have 85 companies and you have four years of data, five years of data, you've got a good data set, and you can get pretty reliable estimates of the underlying cost function parameters based on that data set.

MS. FRAYER:  Actually, maybe then I didn't understand.  

I think the term you used was "deceptive trends" are possible from four to five years of index methods?

DR. KAUFMANN:  With indexing, yes.

MS. FRAYER:  Yes.  What is the driver?  What is underlying -- why is it deceptive?  Is it because of the limited nature?  I thought it was related to the limited nature of the data, and that you are having input and output changes that are not representative of longer term.

Wouldn't that same input/output changes show up in your regression?

DR. KAUFMANN:  The key words were "longer term".  

What it doesn't do is it doesn't reflect how there are going to be a lot of things changing from year to year, which are going to be reflected in the TFP trends.  Those are the changes in the business conditions.

What you need for those things to kind of balance out is a long term.  I mean, you only have the time series element, essentially, for those things to balance out among the companies.

That's not the case when you are relying on cross-section data.  With cross-section data, what you're really doing is you are using all of the data on all of the companies to figure out fundamentally what is driving costs and TFP.

So you are drilling down deeper as opposed to just looking at the overall numbers, and where there are going to be things that will change from year to year which are going to lead to fluctuations.  Those fluctuations are not as relevant in cross-section data.

DR. CRONIN:  Just to pick up on this issue, wouldn't you agree that most business cycles, if you're looking at peak/trough, typically run more than four to five years?

DR. KAUFMANN:  Yes.

DR. CRONIN:  So if you want to capture either an expansion or a contraction and what the impact is on business, wouldn't you need more like six, eight or ten?

DR. KAUFMANN:  Yes, definitely.  That is a very key consideration in terms of how long the sample period should be.

MS. FRAYER:  Just going a little bit more to the issue, just to make sure we're capturing the details.  The econometrics, through the cross-sectional aspect, in effect allow us to incorporate firms that may be in different points of their business cycle.

DR. KAUFMANN:  Maybe, yes, that is possible.

MS. FRAYER:  These different business conditions.  Therefore, they're more confident that the regression deals with the time element that way, because it is factoring in firms who may be at different portions of their life-cycle. 

DR. KAUFMANN:  Not really.  I mean the time element -- we're getting into a fairly technical area here, but if you go back to this, there is a time element here, which is this coefficient on the time.  Time appears as an independent variable in the cost function, and you get a coefficient on time.

So you get a direct estimate on how costs are changing over time, independent of the changes in these other factors that are driving costs and TFP, so there is an element of time that shows up. 


But the idea is that ultimately most of what's driving cost isn't because of time itself.  It is because of the things that are really driving, you know, changes in customer numbers, changes in underground and things that companies are doing.  What you're doing is quantifying that directly through the data.


MS. FRAYER:  Through the data, but the purpose is it is cross-sectional.  So the idea is different firms will have different -- will be at different -- have different sensitivities towards those business drivers.

So once you combine many firms into a cross-sectional analysis, you're compensating for only the four- to five-year period with the aggregation of firms.

DR. KAUFMANN:  Well, I mean, really what it's saying is that if you look at a wide cross-section, say you have companies serving from 2000 customers to 5 million customers.

MS. FRAYER:  Hmm-hmm.

DR. KAUFMANN:  You have a lot of data on that.  You can get a pretty good sense of how much changes in customer growth at various points along those differences in scale are impacting costs.  So that's going to be reflected in these parameters themselves.

So the parameters are capturing that.  There is not a time element there.  It is picked up in the data and what's being estimated in the data.

MS. FRAYER:  But doesn't a TFP index approach that aggregates across all of those same firms also not explicitly -- so it doesn't identify them driver by driver, but implicitly captures them, anyway?

DR. KAUFMANN:  Yes, it does, but the issue is that, you know, the sample period, you know, they're going to fluctuate quite a bit from year to year, so you want to make sure the sample period is long enough so those changes are going to be balanced out.

You can just think about it from any company's point of view.  When they decide to replace a lot of overhead lines with underground lines, and that's going to make a big impact on their costs in that year.  That is going to be a big decline in their TFP in that year.

If a big industrial customer is added, that is going to be potentially a big increase in customer growth.  There are discrete changes like that that happen for any given company which lead to potentially big swings in TFP, and they're not going to be as big for the industry, but you're still going to get that sort of fluctuation.  So you want a control for that.

I think what we're saying is that with econometrics you can control for it directly.  You can quantify it.

With TFP, you can't, and you are really relying on the fluctuations and the measured data to kind of balance out over time.

MS. BRICKENDEN:  Can I ask a question of clarification just from a layperson's standpoint?

In the one case, you are driving at doing the indexing approach.  You are revealing a trend almost directly.  You are using the data to reveal a trend, and, therefore, you are more sensitive to making sure that the time series is long enough to have confidence in the resultant trend.

With the econometric approach, on the other hand, you are trying to use, as you put it, a -- maybe a shorter -- you can use a shorter length of time, but you've got a host of -- a larger set of observations to look at the behaviour of these elements, to then plug into your TFP equation.

So you are not exactly driving at the same result.  So that's why the two analyses, in a way, you can do the econometric on shorter time series; is that correct?

DR. KAUFMANN:  That's right.

MS. BRICKENDEN:  You are driving different observations out of the data?

DR. KAUFMANN:  The data is telling you different things.  I mean, you have more data and you can learn more about fundamentally what is driving TFP growth as opposed to just measuring TFP growth and, you know, hoping that those random fluctuations are balanced out.

MR. HARPER:  Larry, can I understand, for the work you have presented here in the paper that is produced, for the Ontario work you did the index approach, if I understand?

DR. KAUFMANN:  That's correct.

MR. HARPER:  I was getting confused.  There was so much discussion on econometrics and the advantage of econometrics for short periods of time, I was getting --

DR. KAUFMANN:  That's right.  The only reason I bring this up is because I am kind of circling back to where I was in December, where I -- I don't know if you remember, but I kind of presented these options and I said, because of the problems with the time series data, I was leaning towards using the econometric approach here as a means of generating TFP estimates.

Ultimately, I didn't do that.  I decided to use indexing methods to estimate TFP, and I think this discussion we're having right now kind of illustrates one of the reasons why.

Econometrics is harder to understand.  It is much more technically complex, and, particularly because I want to create a sustainable basis for a regulatory framework, I didn't think it made sense to start with the most complicated approach at the outset.  It would be better to build understanding, to build understanding in the approach and the data.

It is also easier to review, much easier to review the -- you know, we can make our information available and people can check our calculations.

So for all of those reasons, I thought it was more appropriate to use the indexing-based approach here for IRM 3.  And in the long run, we probably do want to transition and rely on index-based methods, anyway.  It is the standard way of doing it.  So it kind of made sense to do that.

But in doing that, there really were some serious data constraints here, and that kind of informed our analysis and affected our analysis and the sort of information that we had to use to determine what's an appropriate X-factor.

MR. HARPER:  Did you give any consideration -- I mean, if you say on a long-term basis we want to use sort of indexing, it is more -- it is easier to understand, whether from your own just internal checking perspective, give any thought to sort of just try to run an econometric approach to see whether the result came out wildly different on average?

DR. KAUFMANN:  We really haven't done that, just because, you know, of time and budget constraints.

MR. HARPER:  All right.

DR. KAUFMANN:  So, anyway, so this is the approach that we ultimately took and my reasoning for working through the options and eventually not using the econometric approach and using the index-based method, which, again, is the more standard approach.

Okay, so why don't we stop here?  This is a good opportunity for a break.

MS. BRICKENDEN:  Ten minutes?

DR. KAUFMANN:  Yes.

--- Recess taken at 3:20 p.m.


--- On resuming at 3:40 p.m.

DR. KAUFMANN:  All right.  Sorry, we're in tight quarters here.

All right.  Well I am just going to say a few words, then, about the consumer dividend, in terms of -- before I get to the actual numbers.  There's not as much theory involved in the consumer dividend or productivity stretch factor, but basically these are elements of the X-factor that often differ by company, and in fact sometimes they're called company-specific productivity factors, or sometimes future productivity factors.

So the idea is that the consumer dividend is supposed to pick up the incremental TFP gains that a company, a given company, can be expected to make under a PBR plan relative to the industry standard.

Now, as you can probably understand, trying to quantify those incremental TFP gains is very difficult, and the consumer dividends that have been approved in plans have almost always been determined through judgment, and sometimes entirely through judgment without any reference to any empirical evidence.

Even though that is the case, the approved dividends have tended to be in a fairly small range between zero and 1 percent, with an average value of about 0.5 percent. So even though it has mostly been judgment, the judgment hasn't been extreme.  It's been within a fairly narrow range of values.

Benchmarking is sometimes used to inform the judgment, though.  Again, here is kind of the basic logic, and the logic isn't as well spelled out as for the X-factor.  There is no algebra here, but the basic idea is pretty straightforward, that if you are a less-efficient company, then you have more fat to cut, more costs that you could potentially cut to become efficient, which means that you have a greater scope for incremental TFP gains, which means that you should have a higher consumer dividend.

So there is some link between the efficiency evaluation for a given company and the particular consumer dividend that's approved, with higher dividends for less efficient companies, lower dividends for more efficient companies.

There are some examples of jurisdictions that have looked to benchmarking to set stretch factors or the equivalent of stretch factors.

The two that I mentioned in my report are Massachusetts, where they have used econometric benchmarking in a number of price cap plans to specifically set the values for the stretch factors; and New Zealand, where there's something called a "C1" factor, which is very similar to a stretch factor, which was based on productivity level benchmarks.

I know the New Zealand experience and proceeding has been cited; other people have picked up on that and talked about that, so I want to be clear, there are a lot of elements of that proceeding that I don't agree with, and I am not supporting the whole thing.  When I mention that, I am not holding that up as a model, but I do think this particular aspect of what they did with using productivity-level benchmarks was a good idea.

How they link that to, in principle, to setting stretch factors, I thought was a good idea and it's something that we have talked about in other jurisdictions.

Finally, even though benchmarking can be linked to the value of the consumer dividend, in my opinion it's usually not a good idea to create a direct link between the outcome of the benchmarking study and the consumer dividend that you establish.

So, for example, if a benchmarking study says that a company is -- its predicted costs are 30 percent below the average for the industry and if we've got a five-year plan, it wouldn't be appropriate to take that particular 30 percent value that comes out of the benchmarking study and say:  We've got a five year plan and 30 percent inefficiency.  We want the company to eliminate that, or even eliminate half of that over five years, so it has a consumer dividend of 3 percent.

To me, that is just putting too much emphasis on the outcome of any particular study, and benchmarking isn't an exact science.  So because it is not an exact science, you shouldn't treat the numbers that come out of any study as if -- you shouldn't oversell those and put too much weight on those particular numbers.  It is more an indication of relative efficiency or relative inefficiency, as opposed to a particular value of just how efficient or inefficient the company is.

Adonis?

DR. YATCHEW:  I just have a question or two about the stretch factor.  Now, the stretch factor is often rationalized as being the acceleration in productivity growth that one might anticipate a utility to experience as it transitions from, let's say, cost-of-service to some sort of incentive regulation.

Suppose that you have a firm that's been under incentive regulation for an extended period of time, some form of incentive regulation.  Could one justify a stretch factor in those circumstances?

DR. KAUFMANN:  I think --

DR. YATCHEW:  Where would the acceleration come from?

DR. KAUFMANN:  I think it would depend on –-ultimately, it is an empirical question.

For instance, the benchmarking study is done which shows a variety of productivity levels within the industry.

DR. YATCHEW:  Across firms?

DR. KAUFMANN:  Across firms.  Making appropriate controls for differences in business conditions, et cetera.  If that's the case, I mean if you really do see a lot of disparity among productivity under a benchmarking study that you believe is a good study, then that would imply that even if that industry has been under incentive regulation for a while, that there still are differences in productivity among the firms.  And therefore, there are differences in those firms' ability to make future productivity gains.

DR. YATCHEW:  Okay.  But that is an argument for a diversity factor.  I don't see how that is an argument of adding an additional expectation of accelerated savings to the average productivity factor that's being predicted by some model.

So I imagine having an average productivity factor for the industry that's estimated, and there's a diversity of productivity levels across utilities, and I could see having higher or lower productivity levels or factors relative to the mean, assigned to individual firms based on a benchmarking study.

I am not seeing the connection of actually superimposing the stretch factor over and above the average productivity factor that's produced --

DR. KAUFMANN:  Even when there is a diversity of productivity levels within the industry?

DR. YATCHEW:  Some could be simply more efficient than the average at any point in time, and some could be less efficient.

DR. KAUFMANN:  This was the only flip-chart I was going to draw, and I was going to do it at the end but I think it makes sense to do it now.  What you are talking about is this convergence idea, which is also an idea which has also shown up in the London presentation tomorrow.

Essentially, London -- and I think what you are saying, is:  We've got time here.  We've got some measure of productivity efficiency here.

You've got very productive firms, relatively non-productive firms and you have some mean level of efficiency.  Something like this.  And you expect that to grow over time.

This is a chart that actually appears in the London presentation.  They say:  We want convergence.  We want these companies to come down here, these companies to come up here, et cetera.  And you can get there.  You can get this to happen, and here is kind of the average trend.

You can get this by having a negative stretch factor.  And here, you have a positive stretch factor.

And I think this is kind of what you're saying, too.  So you have a diversity factor, which is negative here and positive here.  In my opinion, this is not the right paradigm.

What you want is, instead, this.  Because what are we really doing here?  We're talking about companies that are very productive, and we want this incentive regulation regime to drive their productivity down.  I mean literally, that seems to be what's going on here.  You are compensating them.  You are giving them a reward, and you're not really encouraging further productivity gains.

I think what we want instead is something like this.

MS. CONBOY:  Can we go back to that one for two seconds before you go further.

DR. KAUFMANN:  Okay.

MS. FRAYER:  I just want to step back, Larry, for a second, because I think you mentioned something earlier that is important to keep in the back of our minds, and it's something that Staff put out in their discussion paper, and that we aren't starting from cost of service.  We've got years and years of some quasi -- I won't call it perfect IRM -- but some quasi of rate freezes and other types of situations with rates that have forced productivity.

DR. KAUFMANN:  I understand that.

MS. FRAYER:  That being the case, and going back, wouldn't you expect eventually some diminishing returns to future productivity growth for some the most efficient firms?

DR. KAUFMANN:  Yes, I do.

MS. FRAYER:  Okay.

DR. KAUFMANN:  That's why this is what I think -- this, to me, is the right paradigm.  And this is what is reflected in our recommendations.  You've got five groups of firms.

Here is time.  Here is productivity.  You have some average TFP growth.  Here is the most efficient firm -- most efficient cohort of firms.  This is the average TFP trend, which, in our study, is 0.88 percent.  This is kind of flipped over --

MS. FRAYER:  Isn't the average based on the entire industry, not just the best performers?

DR. KAUFMANN:  It is the long-run average.

MS. FRAYER:  Again, it's calculated using every single firm, not just the top performers.

DR. KAUFMANN:  Yes, that's right.

MS. FRAYER:  Okay.  So --

DR. KAUFMANN:  Over time, if for whatever reason the  -- you know, the average is -- you know, if there's a diversity in TFP growth and different companies are growing at different rates, then that is going to be reflected.  If there is a slow-down, then that is going to be reflected in updated TFP.

So this is what my best estimate of what the average is right now, the long-run trend.  That doesn't mean that, you know, if this is updated over five-yearly intervals, that this slope isn't going to change, okay.

So this is a little bit of -- we're not dealing with all of the complexities of how the TFP trend is going to change and as new information gets rolled in, but just kind of, This is what we know right now.

Here is group 2.  Group 2 has got a little bit faster productivity slope which reflects this 0.88 plus 0.15, so this is 1.03, et cetera.

So you have five groups and they're all converging to the industry, but you would expect these -- you know, you would expect and impose more demanding paths for the companies that are more inefficient at the outset.  So this to me is the convergence process.  It is not negative stretch factors driving to the mean.  It is everybody driving to the industry average with it being reasonable for even the most efficient companies to be able to grow at the industry average, accepting the fact that the industry average is going to be updated.

MS. FRAYER:  How does the industry average reflect diminishing returns of efficiency gains for those that have been performing very well so far?  If the industry average is based on a historical average, it's not reflecting going forward diminishing return abilities?

DR. KAUFMANN:  It is, because down here, it is really reflected here.  You can see they're greater returns as you become more inefficient.  As you move in this direction, then you have faster slopes.  As you move in this direction, you have slower TFP growth.  That's the diminishing returns.

MS. FRAYER:  The diminishing returns I'm thinking about is forward-looking versus backward-looking, because the 0.88 is backward-looking.  It is based on everybody's performance for the industry as a whole, groups 1 through 5, over the last ten years.

Let's say we agree with the 0.88 for now, so we have that estimate of average industry trends.

DR. KAUFMANN:  Right.

MS. FRAYER:  What expectation we have that the high performers that have been able to perform at 0.88 for the past ten years on average can continue that performance for the next five years?

DR. KAUFMANN:  You know, again, 0.88 is the industry trend.  I think in most industries, it makes sense to think there is an industry overall trend that has been setting the price.  It's the average.  That's what we're talking about here.  What is the average price trend in the industry?


The average price trend is driven by the average TFP growth in the industry.  That's all we're saying.  So, you know, it is kind of the paradigm of competitive markets.  What's setting price trends in competitive markets?  It is the average.

Now, within the average, some firms will be under-performing; some are over-performing.  Still, this is what is driving this.  What we're doing is we're adding a special factor, you know, this consumer dividend, to reflect the fact that there are some firms that are below, that have relative degrees of inefficiency, and, therefore, based on that, you can expect relatively faster TFP growth as a reflection of how inefficient they are.

MS. FRAYER:  Okay.

DR. YATCHEW:  One of the things that troubles me is this reference to --

MS. BRICKENDEN:  Don't go away from it.

DR. YATCHEW:  One of the things that troubles me is this reference to the base productivity factor -- excuse me, to this stretch factor as the consumer dividend.

Isn't the base productivity factor also a consumer dividend, certainly relative to cost-of-service regulation, where the consumer is benefitting in advance, even before the -- even as the productivity improvements occur or are expected to occur on a year-to-year basis?

DR. KAUFMANN:  I wouldn't say that.  I mean, we're trying to come up with a rate adjustment mechanism between years -- right now and the next five years, and we're trying to figure out what reasonable parameters for that adjustment mechanism are.

We know that historically there is productivity growth in this industry.  So when we're going to project prices going forward, we want that reflected in the adjustment mechanism.  I don't think there is any necessary benefit.  It is just kind of a continuation of past price trends, really.

DR. YATCHEW:  Which would be realized under cost of service, as well?

DR. KAUFMANN:  Yes.  I mean, in the US, I mean, these are TFP trends that are estimated for companies that are mostly under cost-of-service regulation.

DR. YATCHEW:  Now, in the US data that you had used and analyzed, was there a gradual migration towards incentive regulation across the data set over time?

DR. KAUFMANN:  Not really.

I mean, there's some companies that were under incentive regulation.  Most weren't.  Most didn't have incentive regulation.  Some did have incentive regulation and went off it.  So it is mixed.

DR. YATCHEW:  I guess what I am not -- what I don't quite have a good empirical explanation for is when I look at page 57 of your report, and if we look at table 12, on the right-hand side, about just below the midpoint of the page, you've got the TFP growth rates for five-year periods.

DR. KAUFMANN:  Yes, that's right.

DR. YATCHEW:  So from 1988 to 1993, there's 0.09 percent growth.  Then there is a spurt from 1993 to 1997 of 1.33 percent, then followed by 1.09 percent and now down to 0.41 percent.

DR. KAUFMANN:  Right.

DR. YATCHEW:  Is there any explanation for this, what seems to be a reduction in TFP growth over the last decade or so?

DR. KAUFMANN:  I'm not sure.  I mean, it could be -- I mean.  It could be that there was a spurt in the '90s because of greater concerns with efficiency for a variety of reasons.  That's possible.

That's why I think, in general, when thinking about the right sample period to select, you want it to -- you are trying to strike a balance between having something that is recent, but not too old, because if you get something that goes back too far in time, then it may not reflect current circumstances.

So I think that is possible.

I can say one thing, though, about 2002 through 2006.  One thing that's definitely happening for utilities in the US, maybe in Canada, too, is pension contributions.

Companies -- because of the stock-market boom in the '90s, a lot of companies conserved on pension contributions.  They weren't making them, because they didn't have to.  That obviously changed in early 2000.

So there has been a big increase in pension contributions.  That's a cost that companies are kind of catching up on.  They under-funded pensions in the '90s.  Now they're catching up on that.  And that's the sort of thing that you would pick up in a multi-year or ten-year plan, but if you just looked at, say, a four- or five-year period, it may not be reflected.

So that is one of the things that's happening.  Another is that the economy has generally been weaker in 2002 through 2006.  Less economic growth means less output growth.  That's another thing that's a factor.

I am sure there are a variety of things that are contributing.

DR. YATCHEW:  We were still relatively strong from 1997 to 2002, and I suppose that is what -- I guess my instinct was to look at these numbers and to wonder why there's this downward trend, what seems to me to be a systematic downward trend in productivity growth in the US data.

DR. KAUFMANN:  Well, you're not looking at the '88 numbers, for example.

I mean, it's not all down.  I mean, first there was a big up -- upturn, and then there has been a downward trend in the last ten years or so.

DR. YATCHEW:  Hmm-hmm.

DR. KAUFMANN:  Again, I know that on the last four or five years, the pension issue is a big one.  A lot of companies are catching up on that.

DR. YATCHEW:  So there are a variety of very specific factors that can drive productivity growth and that could, therefore, influence how we think about what possible productivity -- reasonable targets for productivity growth going forward are?

DR. KAUFMANN:  That's true.

DR. YATCHEW:  Okay.  Thank you.

DR. KAUFMANN:  So that's the discussion on consumer dividends.

Now, let's look at some of the numbers.  We already started to look at some.  But --

[Technical difficulty]

DR. KAUFMANN:  Can you hear me now?

So for the specific values for the X-factors, we looked at three sources of TFP information.

One was the TFP estimates that were developed in previous IRM applications in Ontario.  A second was recent estimates of TFP trends in Ontario, and a third was recent estimates of TFP trends for US power distributors.

The main piece of evidence that we looked at for previous estimates was in 1st generation IRM.  Cronin and King -- half of the team is here today -- estimated TFP trends for 48 distributors, and what they found was that TFP grew at an average rate of 0.86 percent over the nine-year period from '88 to '97.

Over the second half of that period, TFP grew at 2.05 percent.

They didn't actually report TFP growth for the first half of that period, but it's fairly easy to figure out what that is, which is what I have done here on this table.

You can see in the first half of that sample period, TFP actually declined, a modest decline of about 0.1 percent.  Then it accelerated quite a bit in the second half of the period, '93 to '97.

So I think this is -- I mean there are a couple of lessons from this slide.

One is, I think, the dangers, the potential dangers of relying on any five-year period.  If we were to look just at the '88 to '93 period, and let's say the province was considering implementing PBR in, say, 1995, and they would have looked at historical TFP trends.  If they would have looked at, say, the '88 to '93 evidence, what was measured, they would have thought the best estimate of TFP based on those five years would have been, say, zero or slightly negative.

Well, look at what actually happened there.  TFP was quite strong in '93 through '97.

So again, this gets to the issue of the fact that this is a volatile or at least fluctuating measure that's going to change quite a bit from year to year, and to really capture the underlying trend, you want a period that is long enough for those fluctuations to kind of balance out.

So these were the estimates developed in 1st generation IRM.  What the Board actually did in that proceeding was approve a TFP trend of 1.25 percent, and that was based on a weighted average of TFP over the whole sample period, and TFP for the most recent half of that period.

So the Board put a two-thirds weight on the overall trend of 0.86, and a one-third trend on the 2.05 percent, which led to an approved X-factor -- productivity factor of 1.25 percent.

There was also a stretch factor of 0.25 percent, which was imposed for all companies.  So there was a single X-factor in that plan of 1.5.

In 2nd generation IRM, which started in late 2006, the X-factor is just set equal to 1 percent.  That is based really on judgment; a look at the overall evidence, and what that evidence implies for a reasonable X-factor.  But there wasn't any original empirical analysis done in IRM 2 to support that value.

Now, we have updated the TFP trends for Ontario, and we have already talked about this quite a bit.  We only have high-quality data since 2002.  There has been a changeover in what is reported and in the record system.  So because of that, the data are only available since 2002 and there's a gap between the 1997 data -- which was where the previous TFP trends ended, in 1997 -- and when the data picked back up again in 2002.  So between '97 and 2002, we haven't been given any information that we can use to develop TFP trends.  I am not sure whether the information exists or not, but I do know that it's not available in the current information sources, and we haven't been able to access it, anything other than that.

Yes?

DR. CRONIN:  Yes.  That data was collected, so at this point, the Board has a continuous set of data, which is about 40 years of capital and 20 years of operating data.

So 1998, 1999, 2000, 2001 were all collected, consistent with the data in 1st generation.

DR. KAUFMANN:  Okay.  Well, that's great.

DR. CRONIN:  I will talk more about that tomorrow.

DR. KAUFMANN:  Okay.

MS. GIRVAN:  Larry, I just have a question.  If you go back to slide 25, what this -- just a very high-level observation -- is depending on the length of the term that you use, you're going to get very different results.

DR. KAUFMANN:  You can, yes, so how you select the term is important.

MS. GIRVAN:  Yes.

DR. KAUFMANN:  And I will show here how we actually selected the term.  We tried to use as scientific a method for doing that as we could.

MS. GIRVAN:  Okay.  Just an observation.

DR. KAUFMANN:  Okay.  So we, then --

DR. CRONIN:  Can I just mention one thing --

DR. KAUFMANN:  Yes.

DR. CRONIN:  -- on that point.  I mean the macroeconomics were probably different in the two sub-periods, but the regulatory incentive was also different between the two periods.

So you had changing external conditions and changing regulatory incentives.  At least with respect to the second, the behaviour is consistent, as you see it on the TFP growth.

DR. KAUFMANN:  Okay.  So we have estimated TFP from 2002 through 2006.  Our output growth is a weighted average of growth in customer numbers and kilowatt-hour deliveries.  We have weather-normalized the kilowatt-hour deliveries, particularly because of the short sample period.  As you know, kilowatt-hours deliveries can be very volatile from year to year because of weather, and we wouldn't want that volatility to be reflected in TFP, either on a positive or negative side.  So we have weather-normalized those data, and we used cost elasticity shares as weights.  These cost elasticity shares come from our US econometric distribution cost function.

It puts about 63 percent of the weight on customer numbers, and about 37 percent on kilowatt-hours.

Here is our weather-normalization model.  This doesn't actually appear in the report, but for anybody who is interested, this is it.

MR. HARPER:  Larry, just to be clear, you applied the same weather-normalization model to each of the 70 or 80 utilities in the province.


DR. KAUFMANN:  That's right.

MR. HARPER:  And that's to some extent, I guess, why I think you found there wasn't any -- I can't remember which way it was -- there wasn't any significance related to cooling?

DR. KAUFMANN:  That's correct.  We didn't find any significant relationship.

MR. HARPER:  Which is probably because, if you did individual utilities, you would probably find it on some but not on others.  When you throw everybody together, sort of, it all gets lost in the rounding, if I could put it that way.

DR. KAUFMANN:  No, you're probably right.  If we could identify a subset of companies where cooling degree days for significant air-conditioning load, and that is a factor, then we could possibly do a second progression on that.

MS. McLORG:  A question on the concept of elasticity shares --

MS. CONBOY:  Laurie, they can't hear you.

MS. BRICKENDEN:  Laurie, could you use the mic?  And identify yourself, please.

MS. McLORG:  Nobody else has.  Is this on?

MS. BRICKENDEN:  We want to hear you say your new name.

MS. McLORG:  This is just for Lisa.  Laurie McLorg for [inaudible].  I just want to understand the cost elasticity shares.


DR. KAUFMANN:  Yes.

MS. McLORG:  Is that the cost to the utility to service customers and the cost to the utility to produce or deliver -- sorry, to deliver kilowatt-hours?  Is that what that means?

DR. KAUFMANN:  Basically, that's right.  It is the estimate of how much a 1 percent change in customers impacts long-run total distribution costs, and how much a 1 percent change in volumes impacts long-run total distribution cost.


So we get those two estimates.  We get a total of those, and then we make sure that the sum of the two -- basically, so we take each cost elasticity.  We divide it by the sum of them, so that's why we get the share, to make sure that they add up to one.

MS. MCLORG:  So if it is long-run cost, particularly for kilowatt-hour distribution, we wouldn't expect to see it vary year over year?

DR. KAUFMANN:  You mean the cost impact?

MS. MCLORG:  The cost shares, yes.

DR. KAUFMANN:  That's right, that's right.

This is a long-run cost estimate.

MS. MCLORG:  So I don't know if it is the next slide or -- sorry, it's two slides, then, the output quantity growth --

DR. KAUFMANN:  Yes.

MS. MCLORG:  So that on the far right-hand side, the quantity, the growth rate for the volume?

DR. KAUFMANN:  Correct.

MS. MCLORG:  Is that direct relationship to the costs, then, or is that just the change in the volume of the driver?

DR. KAUFMANN:  It's the change -- it's literally output growth as a weighted average.  It's 0.63 times the percentage change in customer numbers, plus 0.37 times the percentage change in kilowatt-hour deliveries.  That's what output growth is in year 2, more or less.

MS. MCLORG:  So that will vary substantially, depending on the kilowatt-hour consumption?

DR. KAUFMANN:  Correct.

MS. MCLORG:  But it has been weather-normalized?

DR. KAUFMANN:  It has been weather-normalized.

MS. MCLORG:  Yet we still see these big changes?

DR. KAUFMANN:  Yes.

MS. MCLORG:  Is that just the levels across the province of kilowatt-hours going up and down, so it is really just price elasticity based on commodity pricing, as well, which isn't directly related to the distribution function?

DR. KAUFMANN:  Well, that could be part of it.  It could be changes in economic activity.  If there's a loss or an addition of a big new industrial customer, for example, that could have a big impact on --

MS. MCLORG:  On the micro level, but this I am assuming is macro?

DR. KAUFMANN:  It is macro, yes.

MS. MCLORG:  Across the province?

DR. KAUFMANN:  Yes.

MS. MCLORG:  So where we see 4.77 percent increase in growth, and then suddenly 0.14 could be the difference between when the price of the commodity changes?

DR. KAUFMANN:  That could be part of it.

There's obviously more efforts to encourage conservation, too.  So you would expect to see kilowatt-hours per -- it wouldn't be surprising if kilowatt-hours per customer are growing less rapidly in more recent years than they were in earlier years.

MS. MCLORG:  Thanks.  That helps.

DR. KAUFMANN:  Okay.  So that's on the output side.  On the input side, input quantity growth is a weighted average of growth in capital additions and deflated OM&A, with the cost shares here serving as weights.

Angela presented the cost shares earlier.  It was about 63 percent or so for capital and about 37 for OM&A.

Here are the results.  First, we've got the output quantity.  You can see that customers are growing pretty steadily from year to year, on average about 1.55 percent.

Volumes growing, are more volatile, but there was a big decline in 2006.  Volumes are growing a little bit more rapidly than customers.  This is -- it has been the experience in the industry for a long time for electric utilities there's been increasing usage per customer.  That differs from natural gas where there has been decreasing usage per customer.

We have output growth of 1.58 percent on average, but I think it is important to look...

It is important to look at what's happening in 2006.

As you mentioned, there is a big decline in volume in that year for whatever reason.  There is also a decline in output in that year.  It's very atypical.  The normal experience in the electric utility -- electric distribution industry is not for output to decline.  It tends to increase from year to year.  There was an output decline in 2006.

On the input side, we see overall input growing at about 1.58 percent.  OM&A is growing at about 1.37.  Capital is growing a little bit faster, 1.7.

This is -- again, the relationship between capital growth and OM&A growth is typical.  You tend to see capital growing faster than operating expenses, although what we're seeing here on OM&A is different than what we see in other jurisdictions where there has been less OpEx, operating expenditure growth than there has been at least in these four years on average in Ontario; not radically different, but a little bit faster in Ontario.

Now, finally, the productivity results just bring these two together, and you can see that TFP is just output growth minus input growth and it pretty much flat.  There is zero TFP growth over the four years.

But this is interesting.  What if we would have only estimated TFP growth from 2002 through 2005?  You can see there's a big -- if you look at these TFP numbers, there is a big decline in TFP in 2006.  A lot of that -- what is driving most of that is the fact that output is only -- is negative 0.33 percent in that year instead of something like 2 percent, which is what it would be in the other -- over 2 percent in the other three years, which is a more typical sort of output growth rate for this industry.

So because of the decline in output in that year -- and I am not sure exactly why that happened, but because of that, TFP fell very rapidly in that year, and it seems to be atypical.

If we -- I am not recommending doing this, but if we were to look at only the three years for 2002 through 2005, we have TFP growth of about 0.9 percent, which is very similar to what we found in the '88 to '97 period, very similar to what we also found in the US.

Again, I am not saying we ignore the 2006 number, but I am saying it is -- it appears to be an anomaly.  If you have a short sample period like this, those anomalies carry more weight.  So if we just ignore the anomaly, what we get is a TFP trend that looks very similar to what we're getting for TFP trends, both for 1st generation and for the US.

MS. CONBOY:  Larry, could I ask you a question?

DR. KAUFMANN:  Yes.

MS. CONBOY:  How would contributed capital factor into this?

So we have, for example, at PowerStream, we're a very large, very fast-growing LDC.  So the output variables would be going up, but a lot of the inputs are initially funded by the developer.

Does that mean your change in outputs is climbing faster than your change in input because this capital cost might exclude capital contribution?

DR. KAUFMANN:  The capital contributions are reflected in the input quantity, so we have separate components on companies' capital additions and capital contributions.  We include both of those.

MS. CONBOY:  Okay.  So your data set had capital contributions in it?

DR. KAUFMANN:  Yes.

MS. CONBOY:  Okay, thanks.

MS. BRICKENDEN:  Wayne?

MR. CLARK:  Larry, Wayne Clark, AMPCO.

Can you explain a bit the minus 0.33, because I thought I heard the customers were weighted about 68 percent or something like that on TFP on output and the rest was energy?

I know energy went down a little bit in 2006.  I'm not sure how much in the LDC area, but I thought there's still fairly constant customer growth.

DR. KAUFMANN:  There is.  If we go to slide 31, table 3, we can look and see exactly what happened with -- between these two components.  We've got -- customer growth was 1.25 percent.  You multiply that by 0.63 and you get something like --

MR. CLARK:  So volume actually dropped off three among -- with the LDCs?

DR. KAUFMANN:  Right.

MR. CLARK:  Okay, thank you.

DR. KAUFMANN:  You multiply that 3 by 0.37 and that swamps the growth that you get on the customer side.

MR. CLARK:  Okay.  I understand.


DR. YATCHEW:  You mentioned that if you dropped 2006, which has a minus 2.66 percent growth rate in TFP, you get numbers that look sort of more reflective of historic patterns.

What would be the empirical -- I mean, on a year-to-year basis, there is a lot of volatility in these numbers, as you've said.

DR. KAUFMANN:  Right.

DR. YATCHEW:  What would be sort of the argument that would cause you to justify --

DR. KAUFMANN:  There's no argument.  I am not justifying it.

DR. YATCHEW:  So you wouldn't drop that.

DR. KAUFMANN:  No, I am not doing that.  I am just pointing to the fact that we have a short sample period here.

DR. YATCHEW:  Right.


DR. KAUFMANN:  What happens in any given year has a very profound impact.  If we would have done this analysis a year ago, all of the numbers would have been 0.8 to 0.9.

DR. YATCHEW:  Fair enough.

DR. KAUFMANN:  But we're not.  I'm say I'm not saying any of this is wrong, but I'm just saying we should be sensitized to the fact we only have four years of data here and when we only have four years the numbers can be very volatile.  The trend can be very volatile.

DR. YATCHEW:  Yes, fair enough.  But you have also, therefore, relied to a large degree on US data.

DR. KAUFMANN:  That's right.

DR. YATCHEW:  And the US data also display a very low productivity growth rate in the same time frame, 2002 to 2006.  Higher than Ontario, but 0.41 as I recall.

DR. KAUFMANN:  0.41, yes.

DR. YATCHEW:  So if the US data are valid here, as a comparable, then there's some reaffirmation of the kind of number that you are observing here.

DR. KAUFMANN:  I don't deny that there has been a slowdown in TFP growth in the US and Ontario in the last four years.  I mean, the numbers do support that.

So I am not denying that.  I am just saying, again, I think this experience -- and if you go back to IRM 1, either of those experiences point to the dangers that can result from relying on too short a sample period as a good reflection of what is going to happen for the next five years.

DR. YATCHEW:  Fair enough.

DR. KAUFMANN:  That's why I do think four years generally is not considered long enough to compute a TFP trend.

DR. YATCHEW:  Should the recent past receive more weight than the more distant past?

DR. KAUFMANN:  The recent past?

DR. YATCHEW:  Should the more recent past -- I mean, earlier on, you mentioned you don't want to go too far back, because then the numbers become irrelevant.  The question is:  Should the recent past receive, to some degree, greater weight than, let's say, the data from ten years ago?

DR. KAUFMANN:  Yes.  I think that deserves consideration.  I mean obviously the Board did that last time.

DR. YATCHEW:  Thank you.

MR. SHEPHERD:  Am I right in understanding that your input quantity data will be affected by the regulatory regime?  That is, a tighter regulatory regime will force utilities to have higher productivity on their costs?

DR. KAUFMANN:  In general?

MR. SHEPHERD:  And vice versa?


DR. KAUFMANN:  Yes.

MR. SHEPHERD:  So if you had a period like we had in the last five years, where basically the regulatory regime had the utilities by the throat for a couple of years, and then finally in 2005 and 2006 started to release it, wouldn't you see productivity drop because they would finally be able to spend some money?

DR. KAUFMANN:  That sounds like that could be -- yes, it could be a reasonable -- that sounds like it could be an outcome for something like that.

MR. SHEPHERD:  The reason I am raising that, aside from the fact it is the flip side of what the utilities are concerned with -- and they're right; this last five years is not a particularly good data set to look at what the future is going to be like.  That just demonstrates.  I mean, isn't the data telling you that?

DR. KAUFMANN:  The data is telling us that TFP growth has declined in the last two years.  But at least in -- well, let's look at what is going on with input quantity, because really the by-the-throat scenario really just applies to input.  It doesn't affect outputs.

2006 really has been driven mostly by output.  The precipitous decline in TFP in that year is because output fell so much.  So that is a separate issue.

But obviously, you can see input quantity here does change very differently.  Growth rates in 2003 and 2004 are very different than what we're seeing in 2005-2006.  Now maybe that is evidence that something happened in 2005 that led to that change in behaviour.  I don't know.  But I mean if you just look at this, it does suggest that there's a difference between those years.

And again, I don't want to oversell this, because they're only four data points, you know, and it is hard to really infer a trend from four data points.  But on the surface, it seems like something happened.

MR. TUCCI:  Larry, I am just wondering.  At the working group we did talk about the significance of 2006, and there are two things.  Wayne pointed out something. too.

We initiated our conservation initiatives.  That's when CDM really stepped up to the plate and we started pushing it very much, and it is just going to continue going forward, major initiatives on CDM.

We also had major industry changes.  A lot of industries closed because of changes in the economy, and that might not be the end.  We may still be facing more changes going forward.

So if this is just the beginning of a trend, I am wondering what the implications are, if we think that the last year that we had data will repeat again in 2007 and then 2008 and 2009.  If this is just more of the same problems with volume, what would be the implications?

DR. KAUFMANN:  Well, I mean I think --

MR. CLARK:  Just a second.

DR. KAUFMANN:  Sure, go ahead. 

MS. BRICKENDEN:  Wayne?

MR. CLARK:  Sorry.

DR. KAUFMANN:  Go ahead.

MR. CLARK:  I followed the trend, and actually, 2006 looks like a blip.  It recovered again in 2007.  Looking just on energy, Morris.  I assume population growth continues at base.  But it seems to have been an anomaly at the moment.

Or I'll put it this way: 2007 doesn't support that there is a downward trend, based on 2006.  

UNIDENTIFIED SPEAKER:  (inaudible)


MR. CLARK:  You just go to the IESO for demand and energy data.  It's there by the hour, all year long.

MR. TUCCI:  Is it going back up or is it just levelling off?

MR. CLARK:  It has popped back up, sort of on a historic trend.  I don't know why CDM doesn't seem to be showing the way it is.  That's an argument for a different day.  But growth seems to have recovered.  I'm sure 2008 will be different.

DR. CRONIN:  Do you know when the 2007 data would be released?  

MS. BRICKENDEN:  Sorry?

DR. CRONIN:  The 2007 distributor data.

MS. BRICKENDEN:  The 2007 distributor data?

DR. CRONIN:  Yes.

MS. BRICKENDEN:  I believe -- and I will check with my colleague who is hiding at the back, Wade Ross – June, I believe, in 2008 or coming up in June?  Sorry?  

Filed in April and published in June.

DR. CRONIN:  Thank you.  

DR. KAUFMANN:  Well, again, these are only four years of change for the TFP data, but this is what we have.

MS. CONBOY:  Sorry.  Before we move on to 34, just back to 33.  The input quantity, the growth rates.  The 2.98, 2.33?

DR. KAUFMANN:  Yes.

MS. CONBOY:  Can somebody remind me when we started recovering regulatory assets?  Would some of those factors be picking up in there?
--- Multiple inaudible speakers


MR. HARPER:  Why would they be in there?

UNIDENTIFIED SPEAKER:  We got final approval in '06, but we were getting this interim recovery two years before that.  

DR. KAUFMANN:  I don't know whether table 4 is meaningful or not, but if you look at what is happening, we have a little bit more information on table 4 about what is driving those changes in '05 and '06.

In '05, it is due to a big increase in O&M.  Capital was about the same, a little bit faster than it was in '03.  But there was a big decline in O&M in 2004.  That was reversed and there was a big increase in 2005.

2006, O&M dropped to more of kind of its normal four-year trend, but there was a big increase in capital in that year.

So overall, the results show the TFP in Ontario has been pretty much flat between 2002 and 2006.

There are really, though, a number of limitations with these data, just in the amount of data, the numbers of years, the rate of change.  And as we talked about earlier, the estimates here of capital quantity are less than ideal, because we're dealing with a fairly limited capital addition series.

We have also estimated TFP for the US industry.  Similar methods, although now we have three inputs, and another big difference is we're using more than 40 years of capital additions.  We have a benchmark capital stock in 1964.

So for the later years of the sample, we've got essentially capital stocks that reflect the entire pattern of capital additions, and a lot of companies' capital is going to be fully depreciated within those 40 years.  It really does reflect the industries that were built up and that exist at that point in time.

Here is our sample: 69 companies, good geographic mix, good mix in terms of size of the companies, et cetera.

And here are the results:  On the output side, we've got output growing a little bit faster than in Ontario.  Ontario overall output was 1.58.  Here we've got 1.75.  Both of these output sub-indexes are growing faster.  Customer growth is a little bit faster, although similar to Ontario but the difference -- the real difference is volume per customer has been growing faster in the US than in Ontario.

This probably reflects more than anything the longer sample period and the lack of conservation measures.  Explicit conservation measures are having less of an impact over this 18-year than they are within the four-year period in Ontario.

On the input side, though, we're seeing slower input growth in the US over these 18 years than over -- in Ontario.  Capital is growing at 1.18 -- what was the number in -- I believe it was 1.7 in Ontario.  So capital was growing relatively faster.  

We've got a breakdown of OM&A into labour and non-labour O&M.  You can see here there has been a very big long-term decline in labour expenses in the US.

Some of that is offset with non-labour O&M.  In part, this reflects outsourcing, the non-labour -- company-owned labour.  When companies have outsourced contracts, that is not reported in direct labour, so it is reported in non-labour O&M, even though a lot of it is outsourced labour contracts.

But, on average, O&M is growing slower in the US than in Ontario.  Both of those things are contributing to slower input quantity growth.

Here, we've looked at this already.  This is the input price index, three components for labour prices, materials, capital and the overall.  You can see labour is growing faster than -- this is general inflation, GDPPI inflation, and capital prices have been growing faster there.  

There is a real run-up in capital near the end of this sample period that's contributing to this faster growth rate.

Then for productivity, we bring this information together and we've got 1.75 percent output growth, 1.04 input growth and TFP growth on average of 0.72 percent over this 18-year period.

Now -- so we've got TFP for the US for 18 years.  We have Ontario for two different sub-periods, in '88 to '97, and then 2002 through 2006.  I thought it would be relevant to kind of compare the two, but we have this gap right now that we weren't able to fill, given the information available to us.

So given that, I had to make some assumptions on how TFP might have grown during those -- during those years.  This is not something I typically do, but, again, it was something that I was kind of driven to do so that I could make some kind of apples-to-apples comparison between the entire series of data in Ontario and the US series.

So what I did is I considered four scenarios for Ontario and I looked at the lower bound on TFP growth, which was essentially the 2002 through 2006 period, about zero percent.  That's the lowest observed -- more or less the lowest observed TFP within the sample period for Ontario.  So I took that as the lower bound of what TFP would have grown during those years '97 to 2002.

And the '93 to '97 period was the most rapid growth that has been observed for either the US or Ontario.  So I thought that was an upper bound for how fast TFP might have grown.  So in scenario 1, that is really kind of a lower bound, assuming no TFP growth in Ontario between '97 and 2002.

In scenario 4, that is a continuation of the rapid 2.05 percent growth for another five years, okay.

Then in between those, I've got basically -- these are scenarios that relate Ontario, how Ontario compared to the US.  In scenario 2, I am just assuming that TFP grew at the same rate as it grew in the US during those years, which was 1.09 percent.

In scenario 3, I am assuming that the relationship between Ontario and US TFP growth was the same in '97 to 2002 as it was in '93 to '97.

So in '93 to '97, TFP growth outstripped -- in Ontario outstripped that in the US.  I am assuming that that incremental TFP growth, that proportion, was maintained in those five years, in the next five years.  So that's scenario 3.

So if you compare -- you look at these average growth rates for '98 (sic) to '93, '93 to '97, 2002 through 2006, they're the same under all of the scenarios, which makes sense, because these are what the data show us, but between the '97 to 2002, that's where the scenarios come into play, the assumptions there, between zero on the low side and 2.05 percent on the high side, and then a couple of intermediate scenarios.

In my opinion, the most reasonable sort of scenarios are going to be somewhere between scenario 2 or scenario 3.

So what do we see?  Again, we've got 0.72 percent for the US.  Under what I think are the two most reasonable scenarios for Ontario, we've got either 0.74 percent or 0.90 percent.

So in the one case it is very similar to the US TFP trend over the entire 18 years.  For the other, it is slightly faster, but very similar to what was computed in '88 to '97.

Julie?

MS. FRAYER:  Just to clarify, the 0.7 and 0.9 is, in effect, taking an average year on year over the current period and similarly viewing each year on year change.  It is not weighting the recent past more than the...?


DR. KAUFMANN:  That's right.  Just an average over the whole sample period.

So here is what we have.  Another way to look at this, I mean, we've got 13 years of growth, and then -- over this 18-year period for Ontario.  If we look at the observed average growth rate over those 13 years, it is about -- it's very similar to the US.  It is something like 0.70, and for the US it is like 0.68.

So for the observed TFP evidence that we have, it is very similar in Ontario than it's been in the US.  Even beyond that, if you kind of look at what you might think of as the inflection points, not just the averages, but how TFP changes -- does it accelerate or decelerate going from one period to another?

Look at '88 to '93.  Compare, say -- let's just look at scenario 2 to the US.  You've got very similar TFP trends in those years, in those five years.  It is negative 0.1 in Ontario.  It is positive 0.1 in the US.  Pretty similar growth.

Between '93 and '97, it accelerated quite a bit in Ontario.  It also turned up in the US, but not as much, as great an extent.  So there is an acceleration in both Ontario and the US.

Now, in '97 to 2002 we don't know for Ontario, but if we go all of the way to 2002 to 2006, we can see it has slowed down in both the US and Ontario.

So I think even within the averages, obviously it is not a perfect proxy, but on average they seem to be growing about the same, and, even for the sub-periods, they're pretty similar and the changes between sub-periods are also similar.

So I think -- and here we've got a graph that kind of shows that for the two most plausible scenarios.

So given that, my analysis of the data was that I think the US TFP growth is a reasonable proxy for Ontario.  Because of the lack of time series data in Ontario -- obviously our preference would be to use Ontario-only data, but we only have a four-year time series, and, in my opinion, that is not long enough and 0.01 is not representative of the TFP trend and what the companies can expect in the future.

So I think, given the comparison of the US and Ontario evidence, I think it is it reasonable to use the US TFP growth as a proxy for Ontario.

Now, the issue, as Julie was saying, is:  What is the sample period that we use for that TFP evidence?

What we have done is a start date analysis, which I have over here on this table.  What this is is basically we're saying, Okay, we know our last year is 2006.  This is the end date for our sample period.  Now, what we want to do is figure out the most appropriate period to start -- to start the sample period and to compute the TFP trend.

What we really want to do is pick a start date that is very similar to the end date, in terms of factors that can lead to unusual changes in TFP growth.  The two factors most generally that can do that are either the weather, that can lead to either large increases or decreases in deliveries, and the overall economy, which can have an impact on output growth.

So what we're doing is we're trying to control for the impact that economic conditions and weather variability have on TFP from year to year, and we don't want the start date to be distorted by conditions that are greatly different than the end date.

MR. BRETT:  Excuse me.  Could I just ask -- I thought you normalized for weather, earlier.

DR. KAUFMANN:  Have we normalized?

MR. BRETT:  I thought you did normalize for weather in calculating TFP. 

DR. KAUFMANN:  We did in Ontario.  Not in the US.

So, what we did is basically, we ran an regression that linked TFP, the log of TFP to heating degree days, cooling degrees days and the unemployment rate.

We found there was a significant relationship between those variables and TFP, and here we've got the regression down there and the T statistics on these things.  So we get kind of the relative impact of these fluctuating conditions on TFP change in a given year.

Once we know the relative impact of these things, we can control for that by applying those weights to heating degree days, cooling degree days and unemployment rate in those years, to come up with an overall valuation of how those changes -- how those values differ from the 2006 value.

So again, this is our attempt at coming up with a scientific analysis, trying to pick the start date that is as similar as possible to the end date, in terms of making sure and controlling for any conditions that can lead to unusual changes in TFP.

If we can do that, then we have more confidence that what we're measuring is the long-term trend in TFP growth.

So when we did that, we found that 1995 was the most appropriate start date.  What we find is that TFP grew by 0.88 percent from '95 to 2006.

So that's our estimate of the long run trend and our recommendation for the productivity factor for IRM 3.

MR. GAPIC:  Just a question, if you would go back to the previous slide.  

MS. BRICKENDEN:  Your name?

MR. GAPIC:  Dan Gapic of Horizon Utilities.

Not this particular slide, the one that you had the TFP growth.  This one here.

Why wouldn't you use 1998?  It has the lowest percentage difference to 2006.

DR. KAUFMANN:  That's a good question.  Because --

MR. GAPIC:  Actually, no. It is actually 2000.

DR. KAUFMANN:  In either of those cases, this gets back to the issue of how long is long enough, and whether it is going to be enough years to kind of balance out the fluctuations.

So that's a good point that I didn't mention.  We're looking for something that was at least nine years beyond, which is kind of the minimum that has ever been approved in an energy plan, a nine-year trend.  It was what was approved in IRM 1.


MR. GAPIC:  So just by using the other two years, it would just be too short a period?

DR. KAUFMANN:  Yes, that's right.

MR. GAPIC:  Okay, thanks.  

MS. CONBOY:  You said we used nine years because that is what was used in IRM 1?

DR. KAUFMANN:  As the minimum.  So we wanted at least nine years.

MS. CONBOY:  Do you recall, Julie or Frank or anybody, why it was we chose nine years in IRM 1?  Was there any basis for that?

DR. CRONIN:  Well, we had ten years of operating data and 25 years of capital --

[Technical difficulty] 

DR. CRONIN:  There was no determination as to a specific minimum number of years, but in talking to the working groups back then, the ten years of operating data and the 25 years of capital data going back seemed to be something that most of them could handle.  So we compiled the data based on those requirements.

DR. KAUFMANN:  Yes.

MS. FRAYER:  Out of curiosity, just going back, '98 is pretty small deviation.  If we did a '98 through 2006 average TFP, do you know what the numbers are off the top?

DR. KAUFMANN:  Not off the top of my head.  That is easy enough to find out, though.

MS. FRAYER:  Just to see if it has a big implication or not.  It seems like they're very close, right?  I see the difference between four to five years, and nine to ten, but we're talking about one year here or there.  It doesn't seem --

DR. KAUFMANN:  Yes, we will take a look at that.

So again, this is the basis for our recommendation and how we arrived at it.

Now, on the consumer dividend, at the time we wrote the report, and actually, right now we don't have specific values for specific companies, because we were working from a report on the comparative costs, a benchmarking work that was not complete at the time.  We knew that report was being revised.

So all we have is an illustrative example of how we propose to set consumer dividends.  But the basis for the consumer dividends is that report and our research on comparative costs, and both our econometric and index-based benchmarking research.

So what we have done is developed an econometric model.  I won't go through all of the details of this, because it is actually different from this model anyway, the final model.  But it is an econometric model that's similar to the econometric models we talked about before, which are used to predict costs.  Then we compare the company's actual costs to the predicted cost.  Then we can look at that difference and determine whether or not it's statistically significant or not.

Then we also did a benchmarking exercise, both OM&A and productivity benchmarks.  I should say that our benchmarking work only applies to OM&A.  Because of the problems with the capital data, we didn't benchmark that explicitly.  We're only benchmarking OM&A.

We constructed unit cost index and PFP indexes for OM&A.  PFP is just partial factor productivity, as opposed to total factor productivity.

One innovation on the unit cost index analysis was we didn't just do that overall for the industry, but we identified specific peer groups for different companies based on our econometric model, on factors that were driving costs.

So we wanted to group companies together on the basis of similar cost drivers.  So we developed 12 different peer groups, and then we had OM&A cost indexes for each company, and what we did then is we compared each company to the average cost, unit cost index for the peer group.  So that was the benchmark evaluation.  The companies were only being compared to their peers on the unit costs.

The econometric model was generating -- that was for the whole industry and that was generating predictions, company by company.  

So what we did in both cases is we took these two benchmarking techniques.  We generated evaluations for how companies compared, relative to the industry or their peers, and then we ranked them in terms of efficiency from top to bottom.

Again, I don't want to go through these tables because they're obsolete at this point anyway, but that's essentially what these tables do.  The first two show the rankings on the econometric model, and the second two show the rankings on the unit cost and productivity indexes.

Then based on this analysis, our proposal is to divide the industry into five groups.

Group I and group V, those groups are determined based on the econometric model.  So for the companies that have lower-than-predicted costs and the difference is statistically significant, those companies are deemed to be significantly superior cost performers, and they're in group I.

Then vice versa.  When companies have costs that are above the cost prediction and the difference is statistically significant, then they're statistically inferior.  Thus you have the groups on – that's the high group and low group.  

Then groups II, III and IV are based on the OM&A unit cost index, and what we did there is we just, again, ranked them from top to bottom, and if a company was in the top third, but they weren't statistically significant, either superior or inferior - and nobody was significantly inferior in the top third, but there were obviously some significantly superior cost performers in the group of companies that were in the top third on the cost index - then they were in group II.

Then similarly for group IV, if they were in the bottom third on the OM&A cost index, but not deemed to be inferior by the cost model, then they were in group IV.

Group III was the middle, so they were in the middle third and they were neither statistically significant, superior or inferior.

So, again, that is the basis.  The rationale behind this, I think there are a number of factors that support this as a benchmarking methodology and as a basis for consumer dividends, and let's talk about the consumer dividends.  The next step was to take these benchmarking evaluations and assign consumer dividends to companies based on them.

This is obviously based on judgment, but we have dividends that go from zero to 0.6.  The lower consumer dividends are for the more -- the more efficient companies, companies in the more efficient groups, and they are based on judgment.

MR. GAPIC:  Just a question in regards to the previous slide.  In the five peer groups, my recollection of the LDCs or distributors that appeared in them, there were no large distributors that appeared in group I.  That seemed a bit peculiar to me, because I'm thinking that large distributors should be the ones that have the most economies of scale and there should be some in there.  Does that seem logical?

DR. KAUFMANN:  Well, first off, it is not true anymore.  I mean, there are some large companies there.  Hydro One is in there now.  Hydro Ottawa is in there --


MR. GAPIC:  In number I?

DR. KAUFMANN:  They're in number I in the final model.  The econometric model is controlling for that.  I mean, it is controlling for the scale economies.  So if you're large, then you're going to have a lower cost, predicted cost, to reflect the economies of scale that you realize.

So it is picked up in the benchmark.

MR. GAPIC:   Okay.  From what I saw, maybe I was looking at a different version or something, but --

DR. KAUFMANN:  Well, you were.  Again, that was just an illustration.  That was not the final results.

MR. GAPIC:  Okay, thanks.

DR. KAUFMANN:  Julia.

MS. FRAYER:  I haven't had a chance yet, Larry, to read the cost comparator, the new study -- 


My apologies.  I haven't had a chance to read through the new report that was released Thursday in great detail, but that is still based purely on OM&A?

DR. KAUFMANN:  It's applied to OM&A, but there are capital controls, that's right.  I mean, system age appears as an independent variable in the model, which is a proxy for the age of the capital stock.  So you are right.  I mean, it is applied to OM&A, but we have tried to control for capital as -- you know, as something that's impacting OM&A costs.

MS. FRAYER:  So there's a -- capital is now in the translog cost function?

DR. KAUFMANN:  It is in system ages.

We looked at capital.  It wasn't always statistically significant.  So that did not appear in the final model, but system age is.

DR. CRONIN:  Capital is not.

DR. KAUFMANN:  Capital is not.

MS. FRAYER:  It is the average age of the asset book?

DR. KAUFMANN:  It is a proxy for it.

DR. CRONIN:  It's based on customer additions.

MS. FRAYER:  Oh, so it is customer growth?

DR. KAUFMANN:  Yes.

MS. FRAYER:  Okay.  Not physical capital?

DR. KAUFMANN:  No, that's right.

MR. SHEPHERD:  You said earlier that, on average, consumer dividends were about half of 1 percent?

DR. KAUFMANN:  Yes.

MR. SHEPHERD:  Then you proposed a set of consumer dividends that average less than that.  Why is that?

DR. KAUFMANN:  Right.  Because of the fact that this only applies to OM&A.

So, you know, my thinking was we don't really know.  We don't have a good inference on capital productivity, but in the short term, a good share of the incremental TFP gains that companies can make are due to OM&A, anyway.

I mean, they could obviously control their capital spending.  That has a big impact, especially in the longer run, but a lot of the capital stock is fixed.  It's sunk.

So because of the fact that we're not benchmarking those sunk costs, we're only benchmarking to the extent that we can kind of the controllable OM&A costs, I wanted to kind of scale the range of consumer dividends to reflect that.  So, again, that was a judgment call, but it was -- approximately 60 percent of the controllable costs are being -- you know, are being reflected in our benchmark.

MR. SHEPHERD:  Here is the part of that that I don't understand.

The end result is that, on average, in other IRM systems, the consumer dividend is half of 1 percent a year.

DR. KAUFMANN:  Yes.

MR. SHEPHERD:  But on average in your proposal, it will be three-tenths of 1 percent.

DR. KAUFMANN:  That's correct.

MR. SHEPHERD:  So the end result of that tells me is that we're expecting Ontario distributors to react less to IRM than everywhere else in the world.  Why is that?

DR. KAUFMANN:  That's not my conclusion.  The reason I scaled it down to be less than 0.5 on average was again kind of a reflection of the data and what we were able to benchmark.

So I didn't want to say anything and I didn't want to have a benchmark -- I didn't want to have the consumer dividend reflect performance that wasn't benchmarked, if I can put it that way.

MR. SHEPHERD:  So then shouldn't there be another consumer dividend added on top of it for capital?  If you are not including it in this, shouldn't you be adding one?

DR. KAUFMANN:  Well, how can we?  I mean, that's what we're having trouble benchmarking, even getting good measures on in Ontario.  So if we can't measure it very well, then we can't benchmark it.

MR. SHEPHERD:  Well, but who says you have to benchmark it?  You are begging the question, aren't you?

DR. KAUFMANN:  Well, I don't want to do anything that is arbitrary, either.  If I want to set benchmarks for companies, you know, and companies vary in terms of their capital productivity, I want that to be reflected in the consumer dividend.

If I don't know that, then basically I have just kind of taken that piece out.

MR. HARPER:  Larry, just on this, I can understand the concerns about -- because you are using the benchmarking results.  Just looking at the OM&A, you have controlled for capital, but it is mainly just OM&A benchmarking.

DR. KAUFMANN:  Right.

MR. HARPER:  I can see arising from that some concern that perhaps somebody that is in the top quartile for OM&A may not be there if you'd been able to benchmark on total capital -- I mean, on total inputs, capital and OM&A, so that to some extent probably brings into question whether or not the people at the top would really be at the top if you considered all factors, and the people at the bottom would really be at the bottom if you considered all factors.  Which means are people in the right group?

But I don't think to -- in all honesty, that addresses Jay's question, which is:  What is the average that I should be applying to people, sort of thing?  If you're saying I don't know if I have them in the right group and, therefore, I am going to be somewhat cautious in terms of the number I apply, then you are sort of -- the people who are in the bottom but should be in the top, or vice versa, you erring one way all the time, sort of thing.

I can understand your question is have you got people in the right group, but, to be quite frank, I don't understand the response in the context of trying to decide what is the average they should be applying, because these numbers are arbitrary.

DR. KAUFMANN:  They are.  I guess what I would say is that I have a fair bit of confidence that we're benchmarking OM&A pretty well.  And OM&A is an important part of the controllable costs and companies' ability to achieve incremental TFP gains going forward.

So I think we have a decent benchmark of OM&A performance, but it is only a partial benchmark.

So what -- but that's the only thing we are able to benchmark.  So what I am doing then is saying, Okay, we know part of the story, and, based on that, we're going to have a consumer dividend that reflects that, reflects what we know.  But since we don't know what's going on on capital side, I am not going to say one thing -- anything one way or the other about what that performance is and how that should or shouldn't be reflected in the consumer dividend.

MR. SHEPHERD:  But, Larry, here is the problem, and this is the problem we have seem lots of time in this sort of process, is if you refuse to put a number to it, you have decided the consumer dividend capital is zero.  That's what you are proposing, in fact.

DR. KAUFMANN:  That is effectively true.  You know, again, I guess my rationale for doing that is I don't want -- I mean, again, in terms of the sustainability of the framework, if we're going to have consumer dividends in incentive regulation, I think they should be tied, to the greatest extent possible, to some kind of evidence.

I mean, we're never going to be able to do that perfectly, but it should be tied to evidence.  That's what we've done here.

If the evidence is limited and it doesn't allow us to say anything about a component of costs, then I think for now we shouldn't have a consumer dividend for that component of cost, but that should be something that we should work towards, correcting our ignorance and knowing more about capital productivity the next time up.

So I guess that is my rationale.  It is about sustainability.  This is what we know now.  This is a consumer dividend that is consistent with that.  We want to go forward, though, and know more and have a consumer dividend that reflects total cost performance and future incentive regulation.

Yes, Julia.


MS. FRAYER:  This is just kind of going on what Bill had mentioned earlier, I wonder whether we need to step back and go back to one of the principal questions about whether or not the groupings are right.  To the extent the groupings are wrong, or that we have firms that are placed in the wrong groupings, this whole argument about what should be the industry average is wrong, because these will be applied to specific firms.

If a firm deserves actually a zero or a negative and gets a big positive, then we're really obscuring a lot of the issues here, and we're being very arbitrary in the end game and hurting ourselves, shooting ourselves in the foot.

DR. KAUFMANN:  Well, I would just say:  What are our options?

On the one hand, we can just ignore the consumer dividend issue, say:  We don't know enough to say anything about it.  I suppose that is an option.

Two, we can say:  We do know something about the relative performance.  It is not perfect.  But here is what we know, and we can have a consumer dividend that is commensurate with our knowledge.  That is what I tried to do.

I think that is a more reasonable approach.  I think the evidence shows us that there are differences in the industry, and given there are differences in the industry, I think there should be a consumer dividend.

DR. CRONIN:  Could you explain how you handled labour capitalization?

DR. KAUFMANN:  Labour capitalization?

DR. CRONIN:  Mm-hmm.

DR. KAUFMANN:  I can't.  I think there are better controls for that now, since 2002, than there have been in earlier years.

DR. CRONIN:  Well, at least in terms of the data that I looked at, which the Board had on their website, there are very dramatic differences in labour capitalization.  For example, there are some utilities that capitalize no labour.  There are some utilities that capitalize 50 percent of their labour.

Those differences could account for a 30 percent difference in OM&A, but yet we're not adjusting for those differences.

DR. KAUFMANN:  Let me get back to you.  Again, this is not my study.  This is a study that Mark Lowry did, and I will check and get back with you about what controls he had.  I am sure he knew that was an issue, and I am sure that it was examined.

DR. CRONIN:  Well, as of September, there was no accounting for the labour capitalization differences.

DR. KAUFMANN:  As of September?

DR. CRONIN:  Right, as of the technical conference in September.  And obviously, if you have -- well, for example you can have a utility that has exactly the same total cost, you can have a utility that has exactly the same labour cost, but because of the way they allocate their labour - one much more to capital and one not - they can appear to be very different in the ranking on OM&A.

DR. KAUFMANN:  Well, let me get back to you on that.  I can maybe even address that tomorrow.

DR. CRONIN:  In this context, you would be shifting utilities, not just one peer-group difference, but you could be shifting them three peer-group differences.

DR. KAUFMANN:  Bill.

MR. HARPER:  Actually, maybe it is something Frank can think on overnight, because I will probably raise the question with you tomorrow.

I think I want to be clear, and maybe you could be clear tomorrow what you mean by labour capitalization, because virtually all of the utilities that I have – you know, I've been involved in looking at a number of cost-of-service applications this year.  Virtually all of those utilities, when they're doing construction, they capitalize labour associated with construction, and all of them show a percentage of their labour, their total labour costs for 2008 forecast being capitalized, because it's going into capital projects.

The percent that's being capitalized, obviously, is going to depend a lot on whether the utility has a heavy capital program or a light capital program in that particular year, because it depends on how much capital work they're doing.

So like I said, I just leave that with you, if you are going to raise it tomorrow, in terms of what do we mean by labour capitalization.  I wouldn't expect all utilities to have the same percentage.  I haven't seen a utility yet that has zero, to be quite honest with you.

DR. CRONIN:  One actually reported to the Board.  I am using the Board's data.

MR. HARPER:  Okay.

MS. BRICKENDEN:  Jay?  Sorry, Frank.


DR. CRONIN:  I am not saying that is the norm.  I was looking at --

MS. CONBOY:  Frank, for the benefit of people on the internet, you have to --

DR. CRONIN: I was commenting that the numbers I was referencing were the Board's numbers, and actually reflected the PBR filings of the various utilities.  There was, in fact, a utility that filed zero capitalized labour.

And I was looking at a small sample.  This was a sample of, you know, maybe two dozen utilities.

In that sample I found a range of zero to 50 percent labour that was capitalized.  As of September, those considerations were not reflected in the work that Mark was doing.  So I was just wondering what had been done since the stakeholders conference in September.

DR. KAUFMANN:  I can check into it and let you know?


MR. CLARK:  Can I ask a question, Frank?

MS. BRICKENDEN:  Sorry, Jay you had a question.

MR. SHEPHERD:  Go ahead.

MR. CLARK:  I think we have our button on.  Are you implying that -- I understand they would capitalize different amounts of labour, because your capital program is up, down, sideways.  But are you suggesting maybe they have different capitalization practices for labour?

DR. CRONIN:  I don't know.  I am just reporting what the data says.  So there could very well be different practices, and they could be in different life-cycles in their business.

MR. CLARK:  Absolutely.

DR. CRONIN:  All I am saying is the data at any point in time that you look at shows very dramatic differences.  These are not slight differences.  When you translate those differences on labour capitalization into the amount of total labour that someone is using, and add it back into what's reported on O&M, you can find utilities that appear to be very, very different on OM&A, but when you add back in capitalized labour, the differences disappear.

And I'm going to talk more about this tomorrow.

MR. CLARK:  Okay.

DR. KAUFMANN:  Let me just say, in terms of this issue there is always going to be uncertainty with any benchmarking evaluation.  It just can't be avoided.  There is never going to be a perfect benchmarking study.

Maybe, and here is a possibility of something to think about:  Given the uncertainty and given the fact that that uncertainty can have financial implications for companies if they're not benchmarked correctly, then maybe it makes sense to have an earnings sharing mechanism be part of this initial incentive regulation mechanism, as a protection against whether or not companies are placed in an appropriate peer group and getting the right consumer dividend.  That is going to provide some potential protection of that and make sure that earnings are going to stay within reasonable amounts.

I just mention that as an option, as a way to offset the uncertainty.

MR. SHEPHERD:  I am a little concerned.  What I am hearing on this consumer dividend stuff and the benchmarking stuff is a little bit of the perfect being the enemy of the good.  If we can't get it exactly right, we should just pretend it doesn't exist.

DR. KAUFMANN:  I didn't say that.

MR. SHEPHERD:  In one sense that may not be bad, because if this is an evolutionary plan, the status quo right now is a 1 percent consumer dividend.  So that wouldn't necessarily be bad for everybody.  But I think there is some value in the notion that you can benchmark at least part of it.  But you can't end up with the wrong number.

I mean, if your average is still a bad number, then you have to at least get your average right.  That's what I am concerned with.

DR. KAUFMANN:  You just think 0.3 is too low for the average?

MR. SHEPHERD:  Well, your own evidence shows that.

DR. KAUFMANN:  Well, I mean the evidence is for the total cost.

MR. SHEPHERD:  Sorry, I understood that your material deals only with OM&A, and that's only part of the cost.  So you are giving consumer dividend on part of the costs, but you are ignoring on the rest of it.

DR. KAUFMANN:  Well, I am only applying the consumer dividend to the part of the cost that has been benchmarked.  That's correct.

MS. BRICKENDEN:  We are applying or sizing the consumer dividend or the stretch factor to reflect that the ranking of distributors this time out for assigning a stretch factor is based on their performance in an OM&A benchmarking exercise.

As Bill pointed out, the ranking might change if it was a comprehensive benchmarking exercise.  Therefore, we would not want to penalize companies that might actually have a total or comprehensive score that is higher, or enrich companies that might have had a comprehensive score that is lower.


I think that was just -- it was somewhat mitigating against that.

DR. KAUFMANN:  That's right.  If you scale the consumer dividend to what's kind of -- what's a better measure of controllable costs, then you are less likely to have inappropriate rewards or penalties based on the parts of the business that aren't being benchmarked.

DR. YATCHEW:  I just wanted to add a comment, at least to put it on the record.

As I read the evidence, the 1 percent or the zero to 1 percent range is not based on any empirical or theoretical argument.  Those are arbitrary numbers, to begin with.

I think that that has been made plain in the evidence.  So we could argue about whether 1 percent is right or whether 0.2 percent is right or whether 2 percent is right, but the 1 percent is an arbitrary number in and of itself.

MR. SHEPHERD:  Maybe I misunderstood Larry earlier, but I understood him to say the empirical evidence from other jurisdictions all over the world is that the range is zero to 1 with an average of 0.5; is that right?

DR. KAUFMANN:  Well, that is empirical in the sense that those are the approved values, but, in general, there is not any empirical basis, scientific basis, for those numbers.

MR. SHEPHERD:  There isn't any empirical basis.  So then you are arguing the same thing.  Since we don't know, let's use zero.

DR. YATCHEW:  No, not necessarily, because I can imagine empirical evidence that could be used to generate this kind of figure.  For example, if you really take seriously the principle that a stretch factor is justified when you move from cost-of-service to incentive regulation, then the empirical exercise is to take a look at the utilities that have moved from one regime to another and what kind of boost in productivity was actually observed.  So it is an empirically answerable question.

MR. SHEPHERD:  That study hasn't been done.  If it had been done, it would be great.  In fact, we would probably like the answer.

DR. KAUFMANN:  I have done that study.  


MR. SHEPHERD:  You have done that study?


DR. KAUFMANN:  I did the study one time for Boston Gas.

MR. SHEPHERD:  Okay.

DR. KAUFMANN:  And it was specific to Boston Gas.  It was the impact -- it was a cost function that looked at, you know, all of the various drivers of costs, and one of the independent variables was a PBR dummy for the years that they were under the PBR plan.  And what that showed was a 0.3 percent increase in TFP growth during those years.

In fact, that became the approved value of the consumer dividend for Boston Gas.

MR. SHEPHERD:  That was for one utility?
---Multiple speakers


DR. KAUFMANN:  For one utility, that's right.  

[Laughter]


But in a sense, I mean, in a way, you want to do it utility by utility, because where companies are and where they start is going to impact their ability to achieve incremental TFP gains.  So if you can look at an average number, then it is probably worth doing, but if you believe that that company's ability to make extra TFP gains depends on how efficient they are at the outset, then it does make sense to kind of scale that and make the number differ by company, even regardless of what the average is.

MR. SHEPHERD:  It is two different numbers, Larry.  One number is your sort of range of individual adjustments.

DR. KAUFMANN:  Right.

MR. SHEPHERD:  The other number is your average.

DR. KAUFMANN:  Exactly.

MR. SHEPHERD:  We're talking about what average you should -- when you're setting your range, what should the fulcrum be?

DR. KAUFMANN:  That's right.  I'm not saying 0.3 is an average.  That was just the number for Boston Gas.

Okay, so just to sum up.  Our recommendation, based on this analysis, is a single industry TFP which is based on US evidence as a value of 0.88 percent, five consumer dividends between zero and 0.6 percent based on Ontario benchmarking data.

The average X-factor -- I haven't computed this, because the data just came out, but it's probably going to be about 1.15 percent.  That is going to be less than the X for all distributors in IRM 1, slightly more than where X is right now.   X is 1 percent right now.


But for companies that are significantly superior cost performers, they will get a lower X-factor as an outcome of IRM 3.  So even though it is not a negative consumer dividend, if you look at where they are right now and where they're going, they're going to have a lower X-factor under IRM 3 than what they have right now.

Again, trying to look to the future, this analysis really was limited by the data that were available to us.  In the future, hopefully we can develop longer time series of data for Ontario and better measures of capital costs.

If that is true, if that happens, then we can develop index-based measures of TFP trends using just Ontario data, and we can also do total cost benchmarking as opposed to OM&A.

Okay.  Any final questions or comments?

MS. BRICKENDEN:  Well, thank you, Larry.  Just quickly pulling it together as food for thought, I guess to start off tomorrow, Staff did do some preliminary analysis to try to construct -- just some inflation minus X-factor combinations that might be gleaned from the Staff discussion paper and Larry's report.  That is illustrated on slide 12.

Under the 2nd generation column, we have highlighted the 1.1 percent, which would be the estimated PCI rate adjustment for folks that are still under 2nd generation.  The other numbers are just estimates of either the unadjusted industry-specific IPI that Angela described to you earlier, would be the first row, where we estimate for 2007 that IPI might be in the area of 3.23 percent.

If you are in group I, where you are only being subject to an adjustment of the industry TFP trend that Larry just discussed, your rate adjustment might amount to approximately 2.35 percent increase.

If you are in group IV, you would be subject to the 0.45 stretch factor, in addition to the 0.88 TFP trend, which would result in approximately a 1.9 percent rate adjustment.

We also have illustrated the second line, where we have smoothed the capital subindex, and there you see some significant differences.

The smoothed IPI that we have illustrated in the paper for 2007 might amount to approximately 0.9 percent.

Then just for illustrative purposes, we have listed the GDP, the 2.1 percent that was recently announced by the Board for making adjustments for this year, and we have lightened the numbers adjacent to the 0.88 X-factors, because we are not certain it would be appropriate.  We would be mixing apples and oranges there; not quite comfortable that it is a fair comparison, but the numbers are there for you to look at.

Staff did toy with the idea of trying to model an input price differential based on the IPI methodology that Judy shared with us, that we tried to illustrate, but that may not be appropriate.  Again, it might be comparing apples and oranges against the X-factor options that we have listed across the top of the table.  So, instead, it is a general question that if we were to go with macroeconomic -- for those of you who prefer a macroeconomic inflator, how might an input price differential be derived?  Yes, Julia.


MS. FRAYER:  A quick question.  Would we also want to incorporate the TFP growth for the economy as a whole, if one were going to do a macroeconomic index?  In other words, you're making adjustments to the I side, inflation side.  I think you also need to make adjustments for the TFP or X-factor for the TFP economy wide.

In effect, the macroeconomic indicator incorporates not just the change in the unit input prices, but also how we would employ them.

DR. KAUFMANN:  That's true.

MS. FRAYER:  So you need to add another -- there's two sets of adjustments there.

MS. BRICKENDEN:  Hmm-hmm.

DR. KAUFMANN:  Right.

MS. BRICKENDEN:  Well, if there are no further -- I see we have run a little bit over time.  I do thank you for your patience.

Looking forward to tomorrow morning.  I believe, Julia, you are first up tomorrow morning.

I asked those of you who are presenting tomorrow, if you haven't already, if you can get me your presentations, I could have them posted early tomorrow morning for the folks who are listening in over the Internet so they can follow along with us.

If there is nothing else, then we will end for the day.  Thank you very much.

--- Whereupon the hearing adjourned at 5:26 p.m.
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